

### City of Torrington

Department of Police Services





### **Board of Safety Report - June 2022 Statistics for April 2022**

	Calls fo	r Service		Administrative Calls	
Motor Vehicle Accidents	88	Assist Other Agencies	66	Follow Up Investigations	135
Robbery	0	Civilian Requests	173	Fleet Maintenance	39
Larceny	36	Harassment / Harrassing Calls	19	Report Writing	105
Burglary	2	Traffic Offense	484	Extra Patrols	556
Distrubance / Disorderly Conduct	31	Warrant Arrests / Attempts	52	Park and Walk	703
Mentally Unstable / Protective Custody	49	Suspicious Circumstances / Persons/Vehicles	207	Traffic Enforcement	104
Assaults	7		2	Radar Monitoring	99
Ambulance Assists	37	Hangers / Trespassing	3	Total:	1741
Unwanted Person	30	Disabled Vehicle	18		
Suicide Attempt	2	Neighbor/Tenant - Landlord Disputes	21		
Alarms	136	Threatening	8		
		Vandalism	38		
Problem 911	49	Drug Violations	5		
Non Violent Family Disputes	31				
Sex Assault	5	DWI	11		
Offense Against Child	3	Noise Complaint	62		
Motor Vehicle Theft		Missing Persons	2		
	1	Domestic Disturbance / Intimidation	21		
Total:	507				

1167

Total:

### Chief's Monthly Report: Records Bureau

Report for the month of: May Year: 2022
Cases Filed: 957 Requests for reports: 98
Registered Sex Offenders: 100 Observer Applicants: 0
Requests from Parole and Corrections: 5 Criminal Record Checks: 53
Vendor Permits Issued: 0 DCF Requests: 51
Grant Overtime
Narcotics: \$ Community Enhancement Grant: \$ 716.88
D.U.I. \$ 5012.00 Internet Crimes Against Children Grant \$
Underage Drinking: \$ 2373.76 Violence ReductionGrant \$
Blockwatch Grant: \$
Youth & Police Grant: \$ Dare Overtime: \$
Items of Note:
154 INCOMING REQUESTS TOTAL  8 REQUESTS FROM COURT BODYCAM/REPORTS/BACKGROUND CHECKS  51 REQUESTS FROM DCF  5 REQUESTS FROM DOC  0 REQUESTS FROM BOPP  8 REQUESTS FROM PROBATION  9 REQUESTS FROM OTHER POLICE DEPTS  7 REQUESTS FROM OTHER GOVN./MUNIC AGENCY  24 REQUESTS FROM LEXIS NEXIS (PR1/MV THEFT)  6 REQUESTS FROM METRO (PR1/MV THEFT)  36 REQUESTS FROM ATTORNYS, INSURANCE, PUBLIC, ETC.
408 REPORTS REDACTED AND DISSEMINATED IN MAY 2022 7 REQUESTS FOR BODYCAM, PHOTOS, 911 CALL, ETC FORWARD TO SGT FOR PROCESSING
157 COMPLETED REQUESTS IN MAY 2022
9 INCOMING PISTOL PERMIT APPLICATIONS TAKEN
10 TEMP PISTOL PERMITS ISSUED 1 DENIED PISTOL PERMIT APP

### **Chief's Monthly Report: Animal Control Division**

Report for the month of: May Ye	ear: 2022
Total Animal Control Calls: 195 Assist Other Agency: Torrington Calls: 189 Goshen Calls: 1 Litchfield Call Total Tele-Service Calls: 44  Torrington Tele-Service: 42 Goshen Tele-Service: 0  Calls Handled After Hours: 13 Calls Handled By Patrol D  Total Animal Bite Calls: 6  Torrington Bites: 6 Goshen Bites: 0 Litchfield Bite  Infractions Issued: 3 Written Warnings: 0 Arres	Litchfield Tele-Service: 2  Division: 14  es: 0
Animals Impounded:  Animals Redeemed to Owners:  Animals Placed in Adoption:  Transport Emergency Vet:  Transport Regular Vet:  Other Special Activities this Month:	Animals Dispatched: 1  Dead Deer: 3  Dead Animals: 6  Delinquent Tags: 2



### Chief 's Monthly Report: DETECTIVE DIVISION

Report for the month of: May Year: 2022
New Cases: 34  Cases closed by arrest: 5
Attached pages detail all activity, broken down by incident type, for the Detective Bureau throughout the course of the month.  # of attached pages: 7

# Detective Division May 2022, New Case Report

014	Offense Against Child	Total:	ω	Open:	2	Closed:	٦
018A	Overdose	Total:	_	Open:	_	Closed:	
069	Weapon Ineligibility	Total:	ω	Open:	2	Closed:	_
1114	Registry Compliance	Total:	ω	Open:	ယ	Closed:	
1117	Applicant Background	Total:	N	Open:		Closed:	N
11A	Sexual Assault With Force	Total:	2	Open:	_	Closed:	_
110	Sex Assault w/ An Obj	Total:	_	Open:		Closed:	_
200	Arson	Total:	_	Open:		Closed:	_
212	Civilian Request	Total:	_	Open:		Closed:	_
220	Burglary	Total:	7	Open:	_	Closed:	
23C	Larceny Shoplifting	Total:	_	Open:	_	Closed:	
23G	Larceny Theft of MV Parts	Total:	ω	Open:	ω	Closed:	

	90A	650	410	36B	281
Total Arrest:	Bad Checks	Officer Injured	Untimely Death	Sexual Assault (Statutory)	Suspicious Circumstances
_					
Total	Total:	Total:	Total:	Total:	Total:
34	_	N	N	ω	4
Total 34 Open:	Open:	Open:	Open:	Open:	Open:
18	1		2		_
Clos	Closed:	Closed:	Closed:	Closed:	Closed:
ed:	**				
18 Closed: 15	H	Ν		ω	2

# Detective Division May 2022 Open Case Report

014	Offense Against Child	Total:	4	Open:	4	Closed:
018A	Overdose	Total:	_	Open:	_	Closed:
069	Weapon Ineligibility	Total:	2	Open:	N	Closed:
1114	Registry Compliance	Total:	ω	Open:	ω	Closed:
11A	Sexual Assault With Force	Total:	_	Open:	_	Closed:
11D	SexAssault Forcible Contact	Total:	N	Open:	2	Closed:
120	Robbery	Total:	N	Open:	N	Closed:
212	Assault W/Deadly Weapon	Total:	_	Open:	_	Closed:
220	Burglary	Total:	14	Open:	14	Closed:
23C	Larceny Shoplifting	Total:	_	Open:	_	Closed:
23F	Larceny Theft From MV	Total:	_	Open:	_	Closed:
23G	Larceny Theft of MV Parts	Total:	ယ	Open:	ယ	Closed:

Closed:	52	Open:	52	Total	Total Arrest:	
Closed:	_	Open:	_	Total:	Bad Checks	90A
Closed:	_	Open:	_	Total:	Suicide	441
Closed:	_	Open:	_	Total:	Suicide Attempt	440
Closed:	6	Open:	6	Total:	Untimely Death	410
Closed:	N	Open:	N	Total:	Sexual Assault (Statutory)	36B
Closed:	_	Open:	_	Total:	Drug/Narcotic Violation	35A
Closed:	_	Open:	_	Total:	Threatening	285
Closed:	ω	Open:	ω	Total:	Suspicious Circumstances	281
Closed:	_	Open:	_	Total:	Fraud Wire	26E

# Detective Division May 2022 Closed Case Report

014	Offense Against Child	Total:	ω	Open:		Closed:	ω
018A	Overdose	Total:	_	Open:		Closed:	_
069	Weapon Ineligibility	Total:	_	Open:		Closed:	_
1117	Applicant Background	Total:	ω	Open:		Closed:	ω
1142	Cell Phone Exam	Total:	_	Open:		Closed:	_
11A	Sexual Assault With Force	Total:	_	Open:		Closed:	_
110	Sex Assault w/ An Obj	Total:	_	Open:		Closed:	_
120	Robbery	Total:	4	Open:		Closed:	_
200	Arson	Total:	_	Open:		Closed:	_
209	Assist Fire Dept	Total:	_	Open:		Closed:	
212	Civilian Request	Total:	_	Open:		Closed:	_
220	Burglary	Total:	_	Open:	_	Closed:	

35	Closed:	_	38 Open:	38	Total	4	Total Arrest:	
2	Closed:		Open:	N	Total:		Officer Injured	650
_	Closed:		Open:	_	Total:		Weapon Law Violations	520
ω	Closed:		Open:	ω	Total:		Untimely Death	410
_	Closed:		Open:	_	Total:		Bomb Threat	400
4	Closed:		Open:	4	Total:		Sexual Assault (Statutory)	36B
_	Closed:		Open:	_	Total:		Vandalism	290
_	Closed:		Open:	_	Total:		Threatening	285
<b>∞</b>	Closed:		Open:	9	Total:		Suspicious Circumstances	281

### **Chief's Monthly Report**

### **Traffic Division**

### Month of:

May

TRAFFIC	Traffic Surveys/Inspections/Complaints  6 Traffic/Speed Counts
PARKING TICKETS	Parking Tickets (Police) Parking Tickets (Traffic)  Ordinance Tickets (Police) Ordinance Tickets (Traffic)  Ordinance Tickets (Traffic)  Handicap Parking Tickets Issued Fire Lane Parking Tickets Issued  Overnight Parking Tickets Issued  Monies Collected from Parking Tickets, Reports, Permits, Etc.  Unpaid Tickets to Date Unpaid Fines to Date Delinquent Notices Sent During Month  Boot Letters Sent During Month  Sy,286.48  Nonies Collected From Meters  Total Monthly Collections  Warning Tickets (Police)
MV ACCIDENTS	96 Motor Vehicle Accidents Investigated 14 Motor Vehicle Accidents Involving Injuries 14 Total Persons Injured In Motor Vehicle Accidents 1 Motor Vehicle Accidents Involving Fatalities 1 Total Fatalities
TRAFFIC VIOLATIONS	School Bus Violations Driving While Intoxicated Violations Stop Sign Violations Speed Monitoring Locations Speeding Violations Traffic Signal Violations Total Traffic Violations Traffic Enforcement Locations Commercial Vehicle Inspections  O Violations Found  O OOS
MAINTENANCE	Traffic Signals Requiring Repair/Maintenance  53 Traffic Signs Requiring Repair/Maintenance  Roadway Markings Requiring Maintenance  61 Meters Requiring Repair/Maintenance
TIME	27.25 Employee Hours Lost Due to Earned Time  15 Employee Hours Lost Due to Sick Time

711116	gton Police Department	TRAINII	NG REPORT	
Area	Curriculum	Course Hrs.	Credit Hrs.	
II	POLICE AND THE LAW	28	25.75	
	Code Topic	Sul	Total	
	200 Police & the Law	18	19.75	
	203 Civil Liability	2	2	
	209 Use of Force	8	4	
Area	Curriculum	Course Hrs.	Credit Hrs.	
III	PRACTICAL SKILLS	277.5	125	
	Code Topic		Total	
	300 Practical Police Skills	120	0	
	301 Firearms	33.5	17.5	
	301-A Shooting Decisions	5	5	
	302-B OC SPRAY	9	9	
	302-C Less Than Lethal Force (EDW)	18	18	
	302-D Less Than Lethal Force Shotgun	36	18	
	304 Medical Response Technician	48	48	
	307 Practical Skills Day	8	8	
	310 Physical Fitness		1.5	
Area	Curriculum	Course Hrs.	Credit Hrs.	
IV	HUMAN RELATIONS	43	27	
	Code Topic	Sul	Total	
	400 Human Relations	9.5	1.5	
	402 Stress Management	6	6	
	405 Suicide Recognition, Intervention, &	8	0	
	410 Law Enforcement & Citizens with Special	7.5	7.5	
	413 Fair and Impartial Policing	6	6	
	416 Procedural Justice	6	6	
Area	Curriculum	Course Hrs.	Credit Hrs.	
IX	EXECUTIVE	11.5	2.75	
	Code Topic	Sul	Total	
	900 Executive Management	11.5	2.75	
Area	Curriculum	Course Hrs.	Credit Hrs.	
٧	CRIMINAL INVESTIGATIONS	34	34	
	Code Topic	Sub	Total	
	500 Criminal Investigation	0	0	
	501 Principles of Investigation	14	14	
	502 Crime Scene Processing	4	4	
	502-B Photography	2	2	
	503 Interviewing Techniques & Skills/Admissions &	2	2	
	512 Sexual Assault/Rape Crisis	6	6	
	515 Case Preparation	6	6	
Area	Curriculum	Course Hrs.	Credit Hrs.	
VI	PATROL PROCEDURES	48	40.25	
	Code Topic	Sub	Total	
	600 Patrol Procedures		8.25	
	601 Accident Investigation	16	16	
	604-A Building Search/Active Aggressor	10	10	
	607 Domestic Violence	6	6	
	620 K-9 Teams	16	0	
Area	Curriculum	Course Hrs.	Credit Hrs.	
VIII	MANAGEMENT	8	8	
	Code Topic	Sub	Total	
	808 Police Stress	8	8	

### **Torrington Police Department**

#### TRAINING REPORT

Officers Attending	Officers Attending Outside Schools	Total Course	Total Credit
In House Schools		Hrs	Hrs
29	40	450	262.7

9
M
<u> </u>
≤ E
1
H K
9
G

05/07/2022

			Printe	Printed 6/6/2022					, m
DATE	NAME	DIVISION	Assignment Printe	Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
5/1/22	BELONICK	PATROL	PATROL - MIDS		\$34.3333	00	\$51.5000	\$411.9996	05/07/2022
5/1/22	DELOY	PATROL	PATROL - DAYS		\$37.8176	8.5	\$56.7264	\$482.1744	05/07/2022
5/1/22	DELOY	PATROL	PATROL - EVES		\$37.8176	00	\$56.7264	\$453.8112	05/07/2022
5/1/22	GONZALEZ	PATROL	PATROL - MIDS		\$52.0080	<b>∞</b>	\$78.0120	\$624.0960	05/07/2022
5/1/22	HUBBARD	PATROL	PATROL - EVES		\$31.9017	00	\$47.8526	\$382.8204	05/07/2022
5/1/22	STEVENS	PATROL	PATROL - DAYS		\$37.8176	8.5i	\$56.7264	\$482.1744	05/07/2022
5/1/22	CASTILLA	PATROL	3 CASES PRAWN ARREST		\$31.9017	_	\$47.8526	\$47.8526	05/07/2022
5/2/22	BAROWN	ADMIN	INSTALL DASH CAM/ TRAINING	AINING	\$52.0080	2.5	\$78.0120	\$195.0300	05/07/2022
5/2/22	CASTILLA	PATROL	22-15420 FVO ARREST		\$31.9017	.5 <sub>1</sub>	\$47.8526	\$71.7788	05/07/2022
5/2/22	DAVIES	PATROL	22-15420 FVO ARREST		\$37.8176	1.5	\$56.7264	\$85.0896	05/07/2022
5/2/22	FADOR	DETECTIVE	DETECTIVE 22-15393 ARSON/ARREST		\$39.7388	Οī	\$59.6082	\$298.0410	05/07/2022
5/2/22	JOHNSON B	DETECTIVE	DETECTIVE 22-15393 ARSON/ARREST	7	\$47.2290	O	\$70.8435	\$354.2175	05/07/2022
5/2/22	KRZANOWSKI	PATROL	EVENING SHIFT BIDS		\$47.2290	2	\$70.8435	\$141.6870	05/07/2022
5/2/22	MAIGA	TRAINING	FTO DOR'S VPOW/JCAS		\$42.5734	_	\$63.8601	\$63.8601	05/07/2022
5/2/22	ROULEAU	SUPPORT	ADMIN DUTIES		\$47.2290	ω	\$70.8435	\$212.5305	05/07/2022
5/3/22	BAROWN	ADMIN	INSTALL DASH CAM/ TRAINING	AINING	\$52.0080	2	\$78.0120	\$156.0240	05/07/2022
5/3/22	BAROWN	ADMIN	BOARD OF PUBLIC SAFETY MEETING	ETY MEETING	\$52.0080	1.5	\$78.0120	\$117.0180	05/07/2022
5/3/22	DABLAIN	DETECTIVE	DETECTIVE 22-15586 AIT CALL IN - IMPOUND LOT	MPOUND LOT	\$39.7388	ω	\$59.6082	\$178.8246	05/07/2022
5/3/22	DALLAS	PATROL	22-15586 AIT CALL OUT ON RDO	ON RDO	\$37.8176	œ	\$56.7264	\$453.8112	05/07/2022
5/3/22	GONZALEZ	PATROL	22-15586 AIT FATAL		\$52.0080	00	\$78.0120	\$624.0960	05/07/2022
5/3/22	JOHNSON B	DETECTIVE	DETECTIVE 22-15586 AIT FATAL		\$47.2290	O	\$70.8435	\$354.2175	05/07/2022
5/3/22	KRZANOWSKI	PATROL	AIT CASE REVIEW		\$47.2290	_	\$70.8435	\$70.8435	05/07/2022
5/3/22	LETTIERI	PATROL	22-15586 AIT INVESTIGATIN CALL IN	TIN CALL IN	\$42.5734	Oī	\$63.8601	\$319.3005	05/07/2022
5/3/22	MAIGA	TRAINING	FTO DOR'S VPOW/JCAS		\$42.5734	_	\$63.8601	\$63.8601	05/07/2022
5/3/22	ROULEAU	SUPPORT	AXON CAMERA INSTALL		\$47.2290	N	\$70.8435	\$141.6870	05/07/2022
5/3/22	SOUTHARD	PATROL	22-15586 AIT CALL OUT ON RDO	ON RDO	\$42.5734	œ	\$63.8601	\$510.8808	05/07/2022
5/3/22	ZAMBETTI	PATROL	22-15586 AIT MVA, SHIFT SHORTAGE	SHORTAGE	\$34.3333	(J)	\$51.5000	\$257.4998	05/07/2022
5/3/22	GAUDETTE	FINANCIAL	COMMUNITY OUTREACH OPIATE GRANT		\$34.3333	4	\$51.5000	\$205.9998	05/07/2022

(		)
	7	
1011-01		
	T	
	7	
1	2	-

05/07/2022

			Printed 6/6/2022	022				Monthly	niy
DATE	NAME	DIVISION	Assignment Printed by Michele	lichele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
5/3/22	KELLY	FINANCIAL	COMMUNITY OUTREACH OPIATE	NATE GRANT	\$42.5734	4	\$63.8601	\$255.4404	05/07/2022
5/3/22	KRZANOWSKI	FINANCIAL	UNDERAGE DRINKING GRANT BALANCE &	NT BALANCE &	\$47.2290	<u>-1</u>	\$70.8435	\$106.2653	05/07/2022
5/4/22	BALDIS	SUPPORT	TRAFFIC SIGNAL PLANNING		\$42.5734	3 5	\$63.8601	\$223.5104	05/07/2022
5/4/22	BELONICK	PATROL	22-15586 AIT CASE		\$34.3333	7.5	\$51.5000	\$386.2496	05/07/2022
5/4/22	CASTILLA	PATROL	22-15126 WARRANT		\$31.9017	_	\$47.8526	\$47.8526	05/07/2022
5/4/22	CURTIN	PATROL	22-15586 AIT INVESTIGATION	2	\$35.3641	7.5	\$53.0462	\$397.8461	05/07/2022
5/4/22	D'AUTORIO	PATROL	22-15589 AIT CRASH		\$42.5734	_	\$63,8601	\$63.8601	05/07/2022
5/4/22	D'AUTORIO	PATROL	22-15586 AIT CRASH		\$42.5734	ა ა	\$63.8601	\$223.5104	05/07/2022
5/4/22	DAVIES	PATROL	22-15126 WARRANT		\$37.8176	_	\$56.7264	\$56.7264	05/07/2022
5/4/22	KRZANOWSKI	PATROL	22-15586 AIT FATAL		\$47.2290	_	\$70.8435	\$70.8435	05/07/2022
5/4/22	KRZANOWSKI	PATROL	22-15586 AIT FATAL		\$47.2290	2.5	\$70.8435	\$177.1088	05/07/2022
5/4/22	POWELL	PATROL	22-15586 SUPP REPORT		\$31.9017	_	\$47.8526	\$47.8526	05/07/2022
5/4/22	STEVENS	PATROL	22-15586 FATAL MVA		\$37.8176	_	\$56.7264	\$56.7264	05/07/2022
5/4/22	KRZANOWSKI	FINANCIAL	UNDERAGE DRINKING GRANT TOBACCO	TOBACCO	\$47.2290	_	\$70.8435	\$70.8435	05/07/2022
5/5/22	BALDIS	PATROL	22-15586 AIT CALL OUT		\$42.5734	ĆΊ	\$63.8601	\$319.3005	05/07/2022
5/5/22	BELONICK	PATROL	22-15586 AIT CASE		\$35.3641	7.5	\$53.0462	\$397.8461	05/07/2022
5/5/22	CURTIN		22-15586 AIT INVESTIGATION		\$35.3641	7.5	\$53.0462	\$397.8461	05/07/2022
5/5/22	FIFER	PATROL	PATROL - DAYS		\$37.8176	00	\$56.7264	\$453.8112	05/07/2022
5/5/22	JOHNSON B	ΝE	ADMIN DUTIES FOR DB		\$47.2290	2	\$70.8435	\$141.6870	05/07/2022
5/5/22	KRZANOWSKI		22-15586 AIT FATAL / 22-15838 SUSP/ 22-15467 \$47.2290	8 SUSP/ 22-15467	\$47.2290	2.5	\$70.8435	\$177.1088	05/07/2022
5/5/22	MAIGA	G	FTO BOOK REVIEW		\$42.5734	.50	\$63.8601	\$31.9301	05/07/2022
5/5/22	POWELL		22-15467 REPORT WRITING / OPEN CASES		\$31.9017	2	\$47.8526	\$95.7051	05/07/2022
5/5/22	STEVENS		PATROL - DAYS		\$37.8176	00	\$56.7264	\$453.8112	05/07/2022
5/6/22	BALDIS	PATROL	22-15959 BROKEN TRAFFIC SIGNAL		\$42.5734	2.5	\$63.8601	\$159.6503	05/07/2022
5/6/22	BELONICK		PATROL - EVES		\$35.3641	8.5	\$53.0462	\$450.8923	05/07/2022
5/6/22	BERNABUCCI	TRAINING	W HTFD RECERT		\$42.5734	∞	\$63.8601	\$510.8808	05/07/2022
5/6/22	DABLAIN	PATROL	PATROL - DAYS		\$39.7388	8.5	\$59.6082	\$506.6697	05/07/2022
5/6/22	D'AUTORIO	TRAINING	W HTFD TRNG CEW/OC PEPPERBALL ON		\$42.5734	00	\$63.8601	\$510.8808	05/07/2022

o	
OVERT	
WEEK E	
A EN	
ENDING	

		OVERTIMI	E WEEK ENDING	05/07/2022	Ν		Mont	hly
NAME	DIVISION	Assignment	Printed 6/6/2022 Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
D'AUTORIO	PATROL	PATROL - MIDS - OI	C	\$47.2290	8	\$70.8435	\$566.7480	05/07/2022
DELAY	PATROL	PATROL - DAYS		\$42.5734	<b>∞</b>	\$63.8601	\$510.8808	05/07/2022
DELOY	PATROL	PATROL - EVES		\$37.8176	<b>∞</b>	\$56.7264	\$453.8112	05/07/2022
FADOR	TRAINING	LESS LETHAL TRAI	NING ON RDO	\$39.7388	00	\$59.6082	\$476.8656	05/07/2022
FOX	PATROL	PATROL - DAYS		\$37.8176	<b>∞</b>	\$56.7264	\$453.8112	05/07/2022
GONZALEZ	TRAINING	W HTFD RECERT LE	ESS LETHAL	\$52.0080	<b>∞</b>	\$78.0120	\$624.0960	05/07/2022
JOHNSON B	PATROL	PATROL - DAYS		\$47.2290	00	\$70.8435	\$566.7480	05/07/2022
JOHNSON B	ADMIN	PIO DUTIES		\$47.2290	_	\$70.8435	\$70.8435	05/07/2022
MAIGA	TRAINING	BACKGROUND INVI	ESTIGATION	\$42.5734	_	\$63.8601	\$63.8601	05/07/2022
POWELL	PATROL	22-15467 REPORT V	VRITING DUI ARREST	\$31.9017	.50	\$47.8526	\$23.9263	05/07/2022
STEVENS	PATROL	22-15838 LATE CAL	L / FTO DUTIES	\$37.8176	.50	\$56.7264	\$28.3632	05/07/2022
YABROSKY	ADMIN	CIT THERAPY DOG	PRESENTATION @ MCC	\$37.8176	ယ	\$56.7264	\$170.1792	05/07/2022
CURTIN	PATROL	22-15971 HOLD OVE	Z	\$35.3641	(J)	\$53.0462	\$265.2308	05/07/2022
DABLAIN	PATROL	PATROL - MIDS		\$39.7388	8.5	\$59.6082	\$506.6697	05/07/2022
GAUDETTE	PATROL	22-15971 MVA		\$34.3333	Ci	\$51.5000	\$257.4998	05/07/2022
GUIDA	PATROL	PATROL - EVES		\$37.8176	œ	\$56.7264	\$453.8112	05/07/2022
HUBBARD	PATROL	PATROL - EVES		\$31.9017	00	\$47.8526	\$382.8204	05/07/2022
KRZANOWSKI	PATROL	PATROL - DAYS		\$47.2290	∞	\$70.8435	\$566.7480	05/07/2022
KRZANOWSKI	PATROL	22-16057 BCKGRND	INVESTIGATION	\$47.2290	ے	\$70.8435	\$70.8435	05/07/2022
KRZANOWSKI	PATROL	22-15586 AIT CASE		\$47.2290	_	\$70.8435	\$70.8435	05/07/2022
MAIGA	TRAINING	BACKGROUND INVE	ESTIGATION	\$42.5734	2.5	\$63.8601	\$159.6503	05/07/2022
MAIGA	TRAINING	PATROL - EVES		\$42.5734	8.5	\$63.8601	\$542.8109	05/07/2022
POWELL	PATROL	COMPLETE REPOR	TS FOR FTO	\$31.9017	ယ	\$47.8526	\$143.5577	05/07/2022
SIMPSON	PATROL	22-15971 TRAFFIC D	UTIES	\$37.8176	.50	\$56.7264	\$28.3632	05/07/2022
STEVENS	PATROL	22-15971 MVA		\$37.8176	ω	\$56.7264	\$170.1792	05/07/2022
DAVIES	FINANCIAL	COMPREHENSIVE	UI GRANT	\$37.8176	80	\$56.7264	\$453.8112	05/07/2022
BALDIS		PATROL - DAYS		\$42.5734	8.5	\$63.8601	\$542.8109	05/14/2022
BELONICK	PATROL	PATROL - MIDS		\$35.3641	∞	\$53.0462	\$424.3692	05/14/2022
	NAME  D'AUTORIO DELAY DELOY FADOR FOX GONZALEZ JOHNSON B MAIGA POWELL STEVENS YABROSKY CURTIN DABLAIN GAUDETTE GUIDA HUBBARD KRZANOWSKI KRZANOWSKI KRZANOWSKI MAIGA POWELL SIMPSON STEVENS BALDIS BELONICK	RIO PA RIO PA PA PA N PA SKY PA SKY PA TR PA	RIO PATROL PATROL PATROL PATROL TRAINING PATROL TRAINING PATROL N PATROL SKY ADMIN PATROL	RIO PATROL PATROL - MIDS - OIC PATROL PATROL - MIDS - OIC PATROL PATROL - MIDS - OIC PATROL PATROL - DAYS PATROL PATROL - DAYS PATROL PATROL - EVES I TRAINING WHTFD RECERT LES IN B ADMIN PATROL DAYS IS PATROL PATROL - DAYS IS PATROL 22-15467 REPORT WF IS PATROL 22-15838 LATE CALL, SKY ADMIN CIT THERAPY DOG PI PATROL 22-15971 MVA PATROL PATROL - EVES I PATR	DIVISION   ASSIgnment   Primate WREEK REDUING	DIVISION   Assignment   Prince Williams   Prince   Patrol	DIVISION   Assignment   Promission   Patrol.   Davs   S37,8176   8   \$5   \$5   Patrol.   Patrol.   Patrol.   Davs   S47,2290   8   \$5   \$5   Patrol.   Patrol.   Davs   S47,2290   8   \$5   \$5   Patrol.   Patrol.   Davs   S47,2290   8   \$5   \$5   Patrol.   Patrol.   Davs   S47,2290   1   \$5   S5   S5   Patrol.   Pa	DIVISION   Assignment   Patrol.   Divident   Divi

(		
1	1	1
	_	1
1	7	7
4 4		
r	T	1
7	7	-
1	2	
	7	;
0	1	)

05/14/2022

DATE	NAME	DIVISION		)     				
5/8/22	DHNSON B	PATROI	Assignment	RAIE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
00000	KBZANOWSKI	COTTO	FAIROL: MICK	\$47.2290	œ	\$70.8435	\$566.7480	05/14/2022
5/8/22	KRZANOWSKI	TAIRO	PATROL - DAYS	\$47.2290	00	\$70.8435	\$566.7480	05/14/2022
5/8/22	TIEMAN	PATROL	PATROL - MIDS	\$39.7388	8.5	\$59.6082	\$506.6697	05/14/2022
5/8/22	DELOY	PATROL	PATROL - DAYS	\$37.8176	8.5	\$56.7264	\$482.1744	05/14/2022
5/8/22	DELOY	PATROL	PATROL - EVES	\$37.8176	œ	\$56.7264	\$453.8112	05/14/2022
5/9/22	DAVIES	PATROL	22-16271 & 22-16272 PRAWN ARREST	\$37.8176	_	\$56.7264	\$56.7264	05/14/2022
5/9/22	POWELL	PATROL	22-16271 & 22-16272 PRAWN ARREST	\$31.9017	٦	\$47.8526	\$47.8526	05/14/2022
5/9/22	KRZANOWSKI	FINANCIAL	UNDERAGE GRANT - TOBACCO COMPLIANCE	<b>\$47.2290</b>	_	\$70.8435	\$70.8435	05/14/2022
5/9/22	GONZALEZ	ADMIN	OFFICER INJURY REPORTS	\$52.0080	_	\$78.0120	\$78.0120	05/14/2022
5/10/22	BAROWN	ADMIN	ADMIN DUTIES	\$52.0080	<b>-</b>	\$78.0120	\$78.0120	05/14/2022
5/11/22	BELONICK	PATROL	22-15586 AIT CASE	\$35.3641	7.5	\$53.0462	\$397.8461	05/14/2022
5/11/22	DAVIES	PATROL	22-16548 OUI	\$37.8176	1.5	\$56.7264	\$85.0896	05/14/2022
5/11/22	POWELL	PATROL	22-16548 OUI	\$31.9017	1.5	\$47.8526	\$71.7788	05/14/2022
5/11/22	KRZANOWSKI	PATROL	SCHEDULING ISSUES IN RMS/ROLL CALL	\$47.2290	2	\$70.8435	\$141.6870	05/14/2022
5/11/22	STEPP	PATROL	PATROL - DAYS	\$31.9017	00	\$47.8526	\$382.8204	05/14/2022
5/11/22	LETTIERI	TRAINING	USE OF FORCE FORM REPORTING	\$42.5734	ω	\$63.8601	\$191.5803	05/14/2022
5/11/22	BAROWN	ADMIN	ADMIN DUTIES	\$52,0080	_	\$78.0120	\$78.0120	05/14/2022
5/12/22	CASTILLA	PATROL	22-16607 FVO INVESTIGATION	\$31.9017	2.5	\$47.8526	\$119.6314	05/14/2022
5/12/22	STEVENS	PATROL	22-16607 FVO INVESTIGATION	\$37.8176	2.5	\$56.7264	\$141.8160	05/14/2022
5/12/22	CURTIN	PATROL	22-16591 FVO ARREST	\$35.3641	.50	\$53.0462	\$26.5231	05/14/2022
5/12/22	STEPP	PATROL	22-16607 FVO INVESTIGATION	\$31.9017	1.5	\$47.8526	\$71.7788	05/14/2022
5/12/22	DELAY	PATROL	PATROL - MIDS - OIC	\$47.2290	œ	\$70.8435	\$566.7480	05/14/2022
5/12/22	FOLEY	PATROL	22-16640 & 16643 PRAWN ARREST	\$37.8176	_	\$56.7264	\$56.7264	05/14/2022
5/12/22	FOX	PATROL	PATROL - EVES	\$37.8176	8	\$56.7264	\$453.8112	05/14/2022
5/12/22	BALDIS	PATROL	PATROL - EVES - OIC	\$47.2290	8.5	\$70.8435	\$602.1698	05/14/2022
5/12/22	POWELL	PATROL	22-16548 DUI REPORT	\$31.9017	4	\$47.8526	\$191.4102	05/14/2022
5/12/22	GONZALEZ	ADMIN	MEMORIAL DAY PARADE OPS PLAN	\$52.0080	_	\$78.0120	\$78.0120	05/14/2022
5/12/22	LOUCKS	RAINING	MONTHLY K9 INSERVICE	\$37.8176	œ	\$56.7264	\$453.8112	05/14/2022

(		)
	T	
THE PERSON	I	
	T	
	1	

05/14/2022

Printed 6/6/2022 Monthly

DATE	NAME	DIVISION	Assignment Printed 6/6/2022	D .	1	)		
E142122	CONNOTA	ADMIN			5 2	2 2 2 2	- C- A	ANEEN ENDING
3/13/22	COMMOLL	7 7	RANDOM DRUG LEST	\$37.8176	.50	\$56.7264	\$28.3632	05/14/2022
5/13/22	DAVIES	PATROL	PATROL - EVES	\$37.8176	8.5	\$56.7264	\$482.1744	05/14/2022
5/13/22	JOHNSON B	DETECTIVE	DETECTIVE 22-14409 SEARCH WARRANT REVIEW	\$47.2290	N	\$70.8435	\$141.6870	05/14/2022
5/13/22	POWELL	PATROL	22-16548 REPORT WRITING	\$31.9017	_	\$47.8526	\$47.8526	05/14/2022
5/13/22	ROULEAU	PATROL	PATROL - EVES	\$47.2290	8.5	\$70.8435	\$602.1698	05/14/2022
5/13/22	DELOY	FINANCIAL	COMPREHENSIVE DUI GRANT	\$37.8176	8	\$56.7264	\$453.8112	05/14/2022
5/13/22	BELONICK	FINANCIAL	COMPREHENSIVE DUI GRANT	\$35.3641	00	\$53.0462	\$424.3692	05/14/2022
5/14/22	BELONICK	PATROL	PATROL - EVES	\$35.3641	8.5	\$53.0462	\$450.8923	05/14/2022
5/14/22	CONNOLLY	PATROL	DEEP SUMMER KIDS EVENT BURR POND	\$37.8176	7	\$56.7264	\$397.0848	05/14/2022
5/14/22	FIFER	PATROL	PATROL - DAYS	\$37.8176	∞	\$56.7264	\$453.8112	05/14/2022
5/14/22	GUIDA	PATROL	PATROL - EVES	\$37.8176	8.5	\$56.7264	\$482.1744	05/14/2022
5/14/22	JOHNSON B	SUPPORT	NO CHILD LEFT INSIDE EVENT BURR POND	\$47.2290	<b>∞</b>	\$70.8435	\$566.7480	05/14/2022
5/14/22	KISIEL	PATROL	PATROL - DAYS	\$35.3641	<b>∞</b>	\$53.0462	\$424.3692	05/14/2022
5/14/22	MAIGA	PATROL	PATROL - DAYS - OIC RATE	\$47.2290	<b>∞</b>	\$70.8435	\$566.7480	05/14/2022
5/14/22	MCINTYRE	PATROL	22-16912 EARLY CALL FOR MVA TRAFFIC	\$37.8176	(J)	\$56.7264	\$283.6320	05/14/2022
5/14/22	SOUTHARD	PATROL	PATROL - EVES	\$42.5734	œ	\$63.8601	\$510.8808	05/14/2022
5/14/22	TIEMAN	SUPPORT	DEEP EVENT NO CHILD LEFT INSIDE	\$39.7388	œ	\$59.6082	\$476.8656	05/14/2022
5/15/22	BELONICK	PATROL	PATROL - MIDS	\$35.3641	00	\$53.0462	\$424.3692	05/21/2022
5/15/22	FIFER	PATROL	PATROL - DAYS	\$37.8176	8.5	\$56.7264	\$482.1744	05/21/2022
5/15/22	KRZANOWSKI	PATROL	22-15586 AIT REPORT REVIEW	\$47.2290	_	\$70.8435	\$70.8435	05/21/2022
5/15/22	KRZANOWSKI	PATROL	PATROL - EVES	\$47.2290	œ	\$70.8435	\$566.7480	05/21/2022
5/15/22	DELOY	PATROL	PATROL - EVES	\$37.8176	8.5	\$56.7264	\$482.1744	05/21/2022
5/16/22	DOS SANTOS	PATROL	22-17115 DUI	\$34.3333	_	\$51.5000	\$51.5000	05/21/2022
5/16/22	POWELL	PATROL	22-17128, 17150, 17166, 17170 REPORT	\$31.9017	4	\$47.8526	\$191.4102	05/21/2022
5/16/22	BAROWN	ADMIN	ADMIN DUTIES	\$52.0080	N	\$78.0120	\$156.0240	05/21/2022
5/17/22	KRZANOWSKI	PATROL	21-28456, 21-42656 AIT REPORT REVIEW	\$47.2290	1.5	\$70.8435	\$106.2653	05/21/2022
5/17/22	YABROSKY	ADMIN	THERAPY DOG PRESENTATION ROCKY HILL	\$37.8176	1.5	\$56.7264	\$85.0896	05/21/2022
5/17/22	ZAMBETTI	PATROL	PATROL - DAYS	\$34.3333	<b>∞</b>	\$51.5000	\$411.9996	05/21/2022

# OVERTIME WEEK ENDING

05/21/2022

			Prin	Printed 6/6/2022				monthly	LIIIy
DATE	NAME	DIVISION	Assignment Print	ie	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
5/18/22	DAVIES	PATROL	22-17479 / 22-17489 MVA		\$37.8176	_	\$56.7264	\$56.7264	05/21/2022
5/18/22	FOX	PATROL	22-17479 MVA	\$3.	\$37.8176	_	\$56.7264	\$56.7264	05/21/2022
5/18/22	POWELL	PATROL	MVA / FTO REPORT WRITING		\$31.9017	4	\$47.8526	\$191.4102	05/21/2022
5/18/22	BAROWN	ADMIN	ADMIN DUTIES	\$5.	\$52.0080		\$78.0120	\$78.0120	05/21/2022
5/18/22	CURTIN	PATROL	22-15586 AIT FOLLOW UP		\$35.3641	7.5	\$53.0462	\$397.8461	05/21/2022
5/19/22	GAUDETTE	PATROL	PATROL - DAYS	\$3.	\$34.3333	8.5	\$51.5000	\$437.7496	05/21/2022
5/19/22	KRZANOWSKI	PATROL	PATROL - DAYS	\$4.	\$47.2290	00	\$70.8435	\$566.7480	05/21/2022
5/19/22	FIFER	PATROL	PATROL - DAYS	\$37	\$37.8176	00	\$56.7264	\$453.8112	05/21/2022
5/19/22	ROULEAU	SUPPORT	21-21519 FOIA REQUEST		47.2290	8	\$70.8435	\$141.6870	05/21/2022
5/19/22	PRISTINA	PATROL	22-17658 DUI ARREST	\$3.	31.9017	_	\$47.8526	\$47.8526	05/21/2022
5/19/22	POWELL	PATROL	22-17605 DV REPORT	\$37	31.9017	51	\$47.8526	\$239.2628	05/21/2022
5/19/22	FOX	PATROL	22-17605 DV REPORT	\$37	37.8176	5	\$56.7264	\$283.6320	05/21/2022
5/19/22	CONNOLLY	SERT	MONTHLY SERT TRNG	\$37	37.8176	00	\$56.7264	\$453.8112	05/21/2022
5/19/22	FOLEY	SERT	MONTHLY SERT TRNG	\$37	37.8176	00	\$56.7264	\$453.8112	05/21/2022
5/19/22	SIMPSON	SERT	MONTHLY SERT TRNG	\$37	37.8176	00	\$56.7264	\$453.8112	05/21/2022
5/19/22	GALLAGHER	SERT	MONTHLY SERT TRNG	\$37	37.8176	œ	\$56.7264	\$453.8112	05/21/2022
5/19/22	LETTIERI	SERT	MONTHLY SERT TRNG	\$42	42.5734	00	\$63.8601	\$510.8808	05/21/2022
5/19/22	LOUCKS	SERT	MONTHLY SERT TRNG	\$37	37.8176	00	\$56.7264	\$453.8112	05/21/2022
5/20/22	BALDIS	SUPPORT	TRAFFIC SIGNAL INSPECTION	€9	42.5734	(L)	\$63.8601	\$191.5803	05/21/2022
5/20/22	CURTIN	PATROL	PATROL - DAYS	\$35	35.3641	00	\$53.0462	\$424.3692	05/21/2022
5/20/22	GAUDETTE	PATROL	PATROL - DAYS	\$34	34.3333	00	\$51.5000	\$411.9996	05/21/2022
5/20/22	GIORDANO	DETECTIVE	22-17787 SEX ASSAULT	\$42	42.5734		\$63.8601	\$63.8601	05/21/2022
5/20/22	HUBBARD	PATROL	PATROL - DAYS	€9	34.3333	00	\$51.5000	\$411.9996	05/21/2022
5/20/22	SEGUI	DETECTIVE	DETECTIVE 22-17787 SEX ASSAULT INVEST	\$	39.7388		\$59.6082	\$59.6082	05/21/2022
5/20/22	WITYAK	PATROL	PATROL - MIDS	\$47	47.2290	00	\$70.8435	\$566.7480	05/21/2022
5/20/22	DABLAIN	FINANCIAL	COMPREHENSIVE DUI ENFORCEMENT		\$39.7388	00	\$59.6082	\$476.8656	05/21/2022
5/20/22	ABELING	PATROL	PATROL - EVES	\$37	\$37.8176	00	\$56.7264	\$453.8112	05/28/2022
5/21/22	BALDIS	PATROL	PATROL - DAYS	\$42	\$42.5734	8.5	\$63.8601	\$542.8109	05/21/2022

	_	
(	=	)
(	T	ì
7	Į	ļ
=	_	1
411	5	
•		
4 4 5	2	
ľ	T	
7	>	-
ľ	T	1
4	2	
-		_
-	=	5

Printed 6/6/2022	OVER INE WEER ENDING 05/21/2022
	( Monthly )

05/21/2022

			Prir	Printed 6/6/2022					
DATE	NAME	DIVISION	Assignment	Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
5/21/22	BALDIS	PATROL	PATROL - EVES		\$42.5734	œ	\$63.8601	\$510.8808	05/21/2022
5/21/22	GONSKA	PATROL	22-15586 VEHICLE INSPECTIONS	ECTIONS	\$42.5734	5.5	\$63.8601	\$351.2306	05/21/2022
5/21/22	HUBBARD	PATROL	PATROL - DAYS		\$34.3333	00	\$51.5000	\$411.9996	05/21/2022
5/21/22	JOHNSON B	TRAINING	FAA AVIATION EMERG 1ST RESP TRNG	1ST RESP TRNG	\$47.2290	ಪ	\$70.8435	\$920.9655	05/21/2022
5/21/22	ROULEAU	PATROL	PATROL - DAYS		\$47.2290	00	\$70.8435	\$566.7480	05/21/2022
5/21/22	ROULEAU	PATROL	PATROL - EVES		\$47.2290	œ	\$70.8435	\$566.7480	05/21/2022
5/21/22	KELLY	FINANCIAL	OPIATE GRANT - COMMUNITY OUTREACH	NUNITY OUTREACH	\$42.5734	4	\$63.8601	\$255.4404	05/21/2022
5/22/22	D'AUTORIO	PATROL	PATROL - EVES - OIC RATE	ATE	\$47.2290	œ	\$70.8435	\$566.7480	05/28/2022
5/22/22	CURTIN	PATROL	PATROL - MIDS		\$35.3641	œ	\$53.0462	\$424.3692	05/28/2022
5/22/22	DOS SANTOS	PATROL	PATROL - DAYS		\$34.3333	00	\$51.5000	\$411.9996	05/28/2022
5/22/22	FIFER	TRAINING	DRE INSTRUCTOR WITNESSED EVAL	NESSED EVAL	\$37.8176	2	\$56.7264	\$113.4528	05/28/2022
5/22/22	KRZANOWSKI	PATROL	21-28456 , 21-42656 AIT REPORT / ARREST	REPORT / ARREST	\$47.2290	2	\$70.8435	\$141.6870	05/28/2022
5/22/22	MAIGA	PATROL	PATROL - DAYS		\$42.5734	00	\$63.8601	\$510.8808	05/28/2022
5/22/22	SULTAIRE	PATROL	PATROL - DAYS		\$42.5734	00	\$63.8601	\$510.8808	05/28/2022
5/23/22	CONNOLLY	FINANCIAL	UNDERAGE DRINKING TASK FORCE	TASK FORCE	\$37.8176	œ	\$56.7264	\$453.8112	05/28/2022
5/23/22	DABLAIN	FINANCIAL	UNDERAGE DRINKING TASK FORCE	TASK FORCE	\$39.7388	7	\$59.6082	\$417.2574	05/28/2022
5/23/22	KRZANOWSKI	FINANCIAL	UNDERAGE DRINKING TASK FORCE	TASK FORCE	\$47.2290	8.5	\$70.8435	\$602.1698	05/28/2022
5/23/22	LETTIERI	FINANCIAL	UNDERAGE DRINKING TASK FORCE	TASK FORCE	\$42.5734	∞	\$63.8601	\$510.8808	05/28/2022
5/23/22	BAROWN	ADMIN	ADMIN DUTIES		\$52,0080	2	\$78.0120	\$156.0240	05/28/2022
5/23/22	COOPER	ADMIN	22-18194 EXPULSION BOARD OF ED	OARD OF ED	\$37.8176	4	\$56.7264	\$226.9056	05/28/2022
5/24/22	DOS SANTOS	FINANCIAL	CLICK IT OR TICKET		\$34.3333	7	\$51.5000	\$360.4997	05/28/2022
5/24/22	HUBBARD	FINANCIAL	CLICK IT OR TICKET		\$34.3333	œ	\$51.5000	\$411.9996	05/28/2022
5/24/22	CONNOLLY	PATROL	22-18286, 18288, 18291, 18293 PRAWN	18293 PRAWN	\$37.8176	.50	\$56.7264	\$28.3632	05/28/2022
5/24/22	COOPER	ADMIN	22-18323 ASSAULT AT THS	THS	\$37.8176	1.5	\$56.7264	\$85.0896	05/28/2022
5/24/22	KELLY	PATROL	PATROL - DAYS		\$42.5734	œ	\$63.8601	\$510.8808	05/28/2022
5/24/22	STEPP	PATROL	PATROL - DAYS		\$31.9017	8.5	\$47.8526	\$406.7467	05/28/2022
5/25/22	KRZANOWSKI	FINANCIAL	UNDERAGE DRINKING TASK FORCE	TASK FORCE	\$47.2290	_	\$70.8435	\$70.8435	05/28/2022
5/25/22	COOPER	ADMIN	22-18323 MTG WITH SUPERINTENDENT	PERINTENDENT	\$37.8176	_	\$56.7264	\$56.7264	05/28/2022

(		)	
	7	1	
	T		
	-		
(		5	

05/28/2022

			Printed 6/6/2022					
NAME	DIVISION	Assignment	Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	
DAVIES	PATROL	PATROL 22-18514 RUNAWAY	~	\$37.8176	.50	\$56.7264	\$28.3632	05/28/2022
	7470							

DATE	NAME	DIVISION	Assignment Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
5/25/22	DAVIES	PATROL	22-18514 RUNAWAY	\$37.8176	.50	\$56.7264	\$28.3632	05/28/2022
5/25/22	MAIGA	PATROL	PATROL - EVES	\$42.5734	& .51	\$63.8601	\$542.8109	05/28/2022
5/25/22	POWELL	PATROL	22-18514 LATE CALL / MULTIPLE REPORT	\$31.9017	ယ	\$47.8526	\$143.5577	05/28/2022
5/25/22	TOLEDO	PATROL	PATROL - DAYS	\$37.8176	00	\$56.7264	\$453.8112	05/28/2022
5/26/22	KRZANOWSKI	FINANCIAL	UNDERAGE DRINKING TASK FORCE	\$47.2290	_	\$70.8435	\$70.8435	05/28/2022
5/26/22	DAVIES	FINANCIAL	DUI ENFORCEMENT GRANT	\$37.8176	7	\$56.7264	\$397.0848	05/28/2022
5/26/22	ROULEAU	FINANCIAL	DUI ENFORCEMENT GRANT	\$47.2290	œ	\$70.8435	\$566.7480	05/28/2022
5/26/22	BALDIS	SUPPORT	NWCC GRADUATION SET UP & TAKE DOWN	\$42.5734	(J)	\$63.8601	\$319.3005	05/28/2022
5/26/22	BAROWN	ADMIN	ADMIN DUTIES	\$52.0080	_	\$78.0120	\$78.0120	05/28/2022
5/26/22	CASTILLA	PATROL	22-18573 ASSAULT ARREST	\$31.9017	ယ	\$47.8526	\$143.5577	05/28/2022
5/26/22	FIFER	TRAINING	PATROL - DAYS	\$37.8176	8	\$56.7264	\$453.8112	05/28/2022
5/26/22	PRISTINA	PATROL	22-18573 PRISONER WATCH @ CHH	\$31.9017	œ	\$47.8526	\$382.8204	05/28/2022
5/26/22	ROULEAU	SUPPORT	21-21516 FOI / G.O. 3.06 PURSUIT	\$47.2290	1.5	\$70.8435	\$106.2653	05/28/2022
5/26/22	STEVENS	PATROL	22-18573 LATE ARREST	\$37.8176	ယ	\$56.7264	\$170.1792	05/28/2022
5/27/22	BAROWN	FINANCIAL	DUI ENFORCEMENT GRANT	\$52.0080	8	\$78.0120	\$624.0960	05/28/2022
5/27/22	BELONICK	FINANCIAL	DUI ENFORCEMENT GRANT	\$35.3641	œ	\$53.0462	\$424.3692	05/28/2022
5/27/22	TIEMAN	FINANCIAL	CLICK IT OR TICKET	\$39.7388	œ	\$59.6082	\$476.8656	05/28/2022
5/27/22	D'AUTORIO	FINANCIAL	CLICK IT OR TICKET	\$42.5734	œ	\$63.8601	\$510.8808	05/28/2022
5/27/22	BELONICK	PATROL	22-18710 DV DUAL ARREST	\$35.3641	4	\$53.0462	\$212.1846	05/28/2022
5/27/22	COOPER	ADMIN	22-18819 HOME VISIT FOR WEAPONS	\$37.8176		\$56.7264	\$56.7264	05/28/2022
5/27/22	FADOR	DETECTIVE	DETECTIVE 22-18710 FVO ARREST	\$39.7388	2	\$59.6082	\$119.2164	05/28/2022
5/27/22	GIORDANO	DETECTIVE	DETECTIVE 22-18710 SEIZURE OF FIREARMS W/ FVO	\$42.5734	2	\$63.8601	\$127.7202	05/28/2022
5/27/22	GUIDA	PATROL	PATROL - DAYS	\$37.8176	8.5	\$56.7264	\$482.1744	05/28/2022
5/27/22	HUBBARD	PATROL	PATROL - DAYS	\$34.3333	00	\$51.5000	\$411.9996	05/28/2022
5/27/22	KRZANOWSKI	PATROL	PATROL - EVES	\$47.2290	00	\$70.8435	\$566.7480	05/28/2022
5/27/22	KRZANOWSKI	PATROL	21-42656 AIT REVIEW	\$47.2290	2	\$70.8435	\$141.6870	05/28/2022
5/27/22	SEGUI	DETECTIVE	22-18710 FIREARMS SEIZURE FVO ARREST	\$39.7388	2	\$59.6082	\$119.2164	05/28/2022
5/28/22	BAROWN	FINANCIAL	DUI ENFORCEMENT GRANT	\$52.0080	00	\$78.0120	\$624.0960	05/28/2022

(	•	
1		
ו	1	
-	_	
Ī	1	1
4 4		
ľ	1	1
ľ	1	
7	>	•
I	1	1
i	4	
A III	2	
7	_	Ī

05/28/2022

				Printed 6/6/2022					
DATE	NAME	DIVISION	Assignment	Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
5/28/22	ROULEAU	FINANCIAL	DUI ENFORCEMENT GRANT	TGRANT	\$47.2290	00	\$70.8435	\$566.7480	05/28/2022
5/28/22	BALDIS	FINANCIAL	CLICK IT OR TICKET	7	\$42.5734	<b>∞</b>	\$63.8601	\$510.8808	05/28/2022
5/28/22	DAVIES	FINANCIAL	CLICK IT OR TICKET	namaji	\$37.8176	∞	\$56.7264	\$453.8112	05/28/2022
5/28/22	BELONICK	PATROL	PATROL - DAYS		\$35.3641	œ	\$53.0462	\$424.3692	05/28/2022
5/28/22	BELONICK	PATROL	PATROL - EVES		\$35.3641	8.5	\$53.0462	\$450.8923	05/28/2022
5/28/22	JOHNSON B	PATROL	PATROL - DAYS		\$47.2290	8.5	\$70.8435	\$602.1698	05/28/2022
5/28/22	JOHNSON B	PATROL	PATROL - EVES		\$47.2290	∞	\$70.8435	\$566.7480	05/28/2022
5/28/22	ROULEAU	SUPPORT	PATROL - DAYS		\$47.2290	<b>∞</b>	\$70.8435	\$566.7480	05/28/2022
5/28/22	WITYAK	PATROL	PATROL - MIDS		\$47.2290	œ	\$70.8435	\$566.7480	05/28/2022
5/29/22	BELONICK	PATROL	PATROL - DAYS		\$35.3641	8.5	\$53.0462	\$450.8923	06/04/2022
5/29/22	HUBBARD	PATROL	22-19043 PRISONER WATCH	RWATCH	\$34.3333	4	\$51.5000	\$205.9998	06/04/2022
5/29/22	JOHNSON B	PATROL	PATROL - DAYS		\$47.2290	8	\$70.8435	\$566.7480	06/04/2022
5/29/22	KRZANOWSKI	PATROL	PATROL - DAYS		\$47.2290	œ	\$70.8435	\$566.7480	06/04/2022
5/29/22	ROULEAU	PATROL	PATROL - EVES		\$47.2290	œ	\$70.8435	\$566.7480	06/04/2022
5/29/22	DABLAIN	FINANCIAL	COMPREHENSIVE DUI GRANT	OUI GRANT	\$39.7388	œ	\$59.6082	\$476.8656	06/04/2022
5/29/22	BELONICK	FINANCIAL	COMPREHENSIVE DUI GRANT	OUI GRANT	\$35.3641	œ	\$53.0462	\$424.3692	06/04/2022
5/30/22	BARANOWSKI	DETECTIVE	22-19318 SEARCH WARRANT	VARRANT	\$37.8176	4.5	\$56.7264	\$255.2688	06/04/2022
5/30/22	KRZANOWSKI	TRAINING	22-16057 BACKGROUND INVEST	OUND INVEST	\$47.2290	1.5	\$70.8435	\$106.2653	06/04/2022
5/30/22	SEGUI	DETECTIVE	22-19318 OVERDOS	DETECTIVE 22-19318 OVERDOSE/SEARCH WARRANT	\$39.7388	2.5	\$59.6082	\$149.0205	06/04/2022
5/30/22	SULTAIRE	PATROL	PATROL - DAYS		\$42.5734	00	\$63.8601	\$510.8808	06/04/2022
5/30/22	BALDIS	SUPPORT	MEMORIAL DAY PARADE	RADE	\$42.5734	N	\$63.8601	\$127.7202	06/04/2022
5/30/22	BELONICK	PATROL	MEMORIAL DAY PARADE	RADE	\$35.3641	4	\$53.0462	\$212.1846	06/04/2022
5/30/22	CONNOLLY	PATROL	MEMORIAL DAY PARADE	RADE	\$37.8176	4	\$56.7264	\$226.9056	06/04/2022
5/30/22	CURTIN	PATROL	MEMORIAL DAY PARADE	RADE	\$35.3641	4	\$53.0462	\$212.1846	06/04/2022
5/30/22	FIFER	PATROL	MEMORIAL DAY PARADE	RADE	\$37.8176	4	\$56.7264	\$226.9056	06/04/2022
5/30/22	GIORDANO	PATROL	MEMORIAL DAY PARADE	RADE	\$42.5734	4	\$63.8601	\$255.4404	06/04/2022
5/30/22	GONSKA	PATROL	MEMORIAL DAY PARADE	RADE	\$42.5734	4	\$63.8601	\$255.4404	06/04/2022
5/30/22	KELLY	PATROL	MEMORIAL DAY PARADE	RADE	\$42.5734	4	\$63.8601	\$255.4404	06/04/2022

0
<
Щ
4
Z
m
1
m
贝
Ш
$\mathbf{Z}$
$\underline{v}$
Z
<b>a</b>

06/04/2022

								(	,,,,,
DATE	NAME	DIVISION	Accionmon*	Printed 6/6/2022	i i				
					7.4	OI HKU	CIRAIE	TOTAL OT	WEEK ENDING
5/30/22	SEGUI	PATROL	MEMORIAL DAY PARADE	RADE	\$39.7388	4	\$59.6082	\$238.4328	06/04/2022
5/30/22	STEPP	PATROL	MEMORIAL DAY PARADE	RADE	\$31 9017	Δ.	\$47 SEDE	9	
2000					6.5			4017104	00/07/2022
2/30/22	DAVIES	TINANCIAL	COMPREHENSIVE DUI GRANT	UI GRANT	\$37.8176	7	\$56.7264	\$397.0848	06/04/2022
5/31/22	BALDIS	SUPPORT	BROKEN SIGNAL OF	BROKEN SIGNAL ON NEW HARWINTON &	\$42.5734	(J)	\$63.8601	\$319.3005	06/04/2022
5/31/22	BAROWN	ADMIN	FINANCE BOARD MTG, BUDGET VOTE	TG,BUDGET VOTE	\$52.0080	ω	\$78.0120	\$234,0360	06/04/2022
5/31/22	COOPER	ADMIN	22-19425 THS ASSAULT	JLT	\$37.8176	_	\$56.7264	\$56.7264	06/04/2022
5/31/22	D'AUTORIO	PATROL	22-19426 OFFICER INJURED	NJURED	\$42.5734	_	\$63.8601	\$63.8601	06/04/2022
5/31/22	GAUDETTE	PATROL	PATROL - DAYS		\$34.3333	œ	\$51.5000	\$411.9996	06/04/2022
5/31/22	GIORDANO	DETECTIVE	22-19318 OVERDOSE	DETECTIVE 22-19318 OVERDOSE/SEARCH WARRANT APP \$42.5734	\$42.5734	ω	\$63.8601	\$191.5803	06/04/2022
5/31/22	ROULEAU	SUPPORT	SUPPORT GO 6-03, 9.04		\$47.2290	1.5	\$70.8435	\$106.2653	06/04/2022
						<b>TOTAL HRS</b> 1356		<b>TOTAL</b> \$82,069.3836	



June 1, 2022

Torrington Police Department 576 Main Street Torrington, CT 06790

To Whom It May Concern,

On 5/30/2022, I had the pleasure of working with Officers Gaudette, Kisiel, and Belonick, as well as Sergeant Sultare, in the care of a male party suffering from a possible overdose. This patient required aggressive treatment from both the Torrington Fire Department and Trinity Health of New England EMS. Additionally, even with multiple scene factors, all services worked together to safely extricate the patient from their residence and subsequently continue care during transport to Charlotte Hungerford Hospital. I am grateful for the continued exceptional relationship developed between the Torrington Police Department and Trinity Health of New England EMS. Together, we are able to provide first-class emergency medical care to all citizens and visitors in the City of Torrington.

Today, we received an astounding phone call from the patient's family. They advised us that the patient was discharged home with no adverse outcomes. The family was very appreciative of the remarkable care provided by our services.

Please share this letter with the officers who responded. I look forward to continuing our collaborative working relationship. As always, please do not hesitate to reach out to Jeff Ganung or any of us here at Trinity Health of New England EMS.

Sincerely,

Nicholas G. Amato, M.S., NRP, EMS-I

Paramedic

CONFIDENTIALITY NOTICE: This electronic message and all contents contain information from Trinity Health which may be privileged, confidential or otherwise protected from disclosure. The information is intended to be for the addressee only. If you are not the addressee, any disclosure, copy, distribution or use of the contents of this message is prohibited. If you have received this electronic message in error, please notify us immediately and destroy the original message and all copies.



### City of Torrington

Department of Police Services





### **Board of Safety Report - July 2022** Statistics for May 2022

	Calls for	<u>Service</u>		Administrative Calls	
Motor Vehicle Accidents	80	Assist Other Agencies	54	Follow Up Investigations	167
Robbery	2	Civilian Requests	250	Fleet Maintenance	40
Larceny	39	Harassment / Harrassing Calls	22	Report Writing	90
Burglary	3	Traffic Offense	431	Extra Patrols	539
Distrubance / Disorderly Conduct	29	Warrant Arrests / Attempts	46	Park and Walk	644
Mentally Unstable / Protective Custody	49	Suspicious Circumstances / Persons/Vehicles	234	Traffic Enforcement	87
Assaults	14	reisons/ venicles		Radar Monitoring	78
		Hangers / Trespassing	2		
Ambulance Assists	23	Disabled Vehicle	22	Total:	1645
Unwanted Person	27	Disabled Verlicle	22		
		Neighbor/Tenant - Landlord Disputes	35		
Suicide Attempt	0				
Alamas	115	Threatening	9		
Alarms	115	Vandalism	8		
Problem 911	68				
		Drug Violations	1		
Non Violent Family Disputes	1	DWI	2		
Sex Assault	2	DVI	_		
		Noise Complaint	78		
Offense Against Child	7	Addition D	2		
Motor Vehicle Theft	2	Missing Persons	3		
		Domestic Disturbance / Intimidation	24		
Total:	461				
		Total:	1221		

### **Chief's Monthly Report: Animal Control Division**

Report for the month of: June Year: 2022
Total Animal Control Calls: 184 Assist Other Agency: 1 Followup Investigations: 34  Torrington Calls: 108 Goshen Calls: 2 Litchfield Calls: 3  Total Tele-Service Calls: 32  Torrington Tele-Service: 32 Goshen Tele-Service: 0 Litchfield Tele-Service: 0  Calls Handled After Hours: 20 Calls Handled By Patrol Division: 22  Total Animal Bite Calls: 5  Torrington Bites: 4 Goshen Bites: 0 Litchfield Bites: 1  Infractions Issued: 2 Written Warnings: 1 Arrests: 0
Animals Impounded:  Animals Redeemed to Owners:  6  Dead Deer:  0  Animals Placed in Adoption:  2  Transport Emergency Vet:  1  Delinquent Tags:  Other Special Activities this Month:

### **Chief's Monthly Report**

### **Traffic Division**

Month of:

June

TRAFFIC	Traffic Surveys/Inspections/Complaints  6 Traffic/Speed Counts
PARKING TICKETS	Parking Tickets (Police) Parking Tickets (Traffic)  Ordinance Tickets (Police) Ordinance Tickets (Traffic)  Ordinance Tickets (Traffic)  Handicap Parking Tickets Issued Fire Lane Parking Tickets Issued  Overnight Parking Tickets Issued  **T,958.50** Monies Collected from Parking Tickets, Reports, Permits, Etc.  Unpaid Tickets to Date Unpaid Fines to Date  Delinquent Notices Sent During Month  **So,409.65** Monies Collected From Meters  **T3,800.98** Fiscal Year Total Collections
MV ACCIDENTS	84 Motor Vehicle Accidents Investigated 18 Motor Vehicle Accidents Involving Injuries 18 Total Persons Injured In Motor Vehicle Accidents 0 Motor Vehicle Accidents Involving Fatalities 0 Total Fatalities
TRAFFIC VIOLATIONS	O School Bus Violations Driving While Intoxicated Violations Stop Sign Violations Speed Monitoring Locations Speeding Violations Traffic Signal Violations Total Traffic Violations Traffic Enforcement Locations Commercial Vehicle Inspections O Violations Found O OOS
MAINTENANCE	Traffic Signals Requiring Repair/Maintenance  52 Traffic Signs Requiring Repair/Maintenance  Roadway Markings Requiring Maintenance  141 Meters Requiring Repair/Maintenance
TIME	46 Employee Hours Lost Due to Earned Time 4.5 Employee Hours Lost Due to Sick Time



### Chief 's Monthly Report: DETECTIVE DIVISION

Report for the month of: June Year: 2022
New Cases: 34
Cases closed by arrest: 4 Cases closed no arrest: 19
Active cases on file: 33
Arrest Warrants Applied For: 6 Arrest Warrants Served: 3
Schools Attended and by whom:
L/BJOH, 1 day, Drone Accident investigation S/MGIO, 5 days, Patrol Rifle Instructor D/KTIE, 1 day, Firearms (Rifle) D/OSEG, 4 days, Interview and Interrogation, Firearms (Rifle)
Attached pages detail all activity, broken down by incident type, for the Detective Bureau throughout the course of the month.  # of attached pages: 7  Items of Note:
6/14/22, Narcotics Arrest (State Wide Narc TF), Harwinton Ave, 60 wax folds, 8 bags of crack cocaine 6/23/22, Bank Robbery # 22-22382, 83 yo suspect robbed Litchfield Bank Corp (East Main St.), stealing \$3,194. Suspect was later identified as James Thompson who was charged with Robbery 1, Larceny 3rd. Held on a \$250,000 bond

# Detective Division June 2022 Closed Case Report

014	Offense Against Child	Total:	_	Open:	Closed:	_
018	Protective Custody	Total:	_	Open:	Closed:	_
069	Weapon Ineligibility	Total:	10	Open:	Closed:	2
1117	Applicant Background	Total:	<b>∞</b>	Open:	Closed:	œ
11A	Sexual Assault With Force	Total:	_	Open:	Closed:	_
11D	SexAssault Forcible Contact	Total:	_	Open:	Closed:	_
208	Assist Other Agency	Total:	_	Open:	Closed:	_
220	Burglary	Total:	_	Open:	Closed:	_
23F	Larceny Theft From MV	Total:	_	Open:	Closed:	_
23G	Larceny Theft of MV Parts	Total:	_	Open:	Closed:	_
281	Suspicious Circumstances	Total:	2	Open:	Closed:	8
36B	Sexual Assault (Statutory)	Total:	_	Open:	Closed:	_

	520	441
Total Arrest:	Weapon Law Violations	441 Suicide
2		
Total	Total:	Total:
23	_	_
Total 23 Open:	Open:	Open:
Closed:	Closed:	Closed:
23	1	ے

# Detective Division June 2022 Open Case Report

36B	35A	281	220	212	120	11D	11A	1117	1114	018A	014
Sexual Assault (Statutory)	Drug/Narcotic Violation	Suspicious Circumstances	Burglary	Civilian Request	Robbery	SexAssault Forcible Contact	Sexual Assault With Force	Applicant Background	Registry Compliance	Overdose	Offense Against Child
Total:	Total:	Total:	Total:	Total:	Total:	Total:	Total:	Total:	Total:	Total:	Total:
Total: 1	Total: 1	Total: 2	Total: 12	Total: 1	Total: 2	Total: 1	Total: 1	Total: 2	Total: 1	Total: 1	Total: 2
	Total: 1 Open:					Total: 1 Open:	Total: 1 Open:		Total: 1 Open:	Total: 1 Open:	
_	_	2	12	_	20	_	_	8	_	_	8

Tot	440 Suicide Attempt	410 Untimely Death
Total Arrest:		
_		
Total	Total:	Total:
33		Ŋ
Total 33 Open:	Open:	5 Open:
33	_	CI
33 Closed:	Closed:	Closed:

# **Detective Division June 2022 New Case Report**

014	Offense Against Child	Total:	စ	Open:	(J1	Closed:	_
018	Protective Custody	Total:	_	Open:		Closed:	_
018A	Overdose	Total:	_	Open:	_	Closed:	
069	Weapon Ineligibility	Total:	_	Open:		Closed:	_
1114	Registry Compliance	Total:	2	Open:	N	Closed:	
1117	Applicant Background	Total:	10	Open:	2	Closed:	œ
11D	SexAssault Forcible Contact	Total:	2	Open:	2	Closed:	
120	Robbery	Total:	_	Open:	_	Closed:	
208	Assist Other Agency	Total:	_	Open:		Closed:	_
212	Civilian Request	Total:	_	Open:	_	Closed:	
23F	Larceny Theft From MV	Total:	_	Open:		Closed:	_
23G	Larceny Theft of MV Parts	Total:	_	Open:		Closed:	_

15	18 Closed:	18	Total 34 Open:	34	Total	_	Total Arrest:	
	Closed:	2	Total: 3 Open:	ယ	Total:		Untimely Death	410
_	Closed:	_	2 Open:	2	Total:		Suspicious Circumstances	281
	Closed:	_	1 Open:		Total:		Fraud Wire	26E

### Chief's Monthly Report: Records Bureau

Report for the month of: June Year: 2022
Cases Filed: 823 Requests for reports: 96
Registered Sex Offenders: 96 Observer Applicants: 4
Requests from Parole and Corrections: 4 Criminal Record Checks: 49
Vendor Permits Issued: 1 DCF Requests: 45
Grant Overtime
Narcotics: \$ Community Enhancement Grant: \$ 447.02
D.U.I. \$ 1949.02 Internet Crimes Against Children Grant \$
Underage Drinking: \$ 318.80 Violence ReductionGrant \$
Blockwatch Grant: \$
Youth & Police Grant: \$ <u>Dare Overtime: \$</u>
Items of Note:
149 INCOMING REQUESTS TOTAL 8 REQUESTS FROM COURT BODYCAM/REPORTS/BACKGROUND CHECKS 45 REQUESTS FROM DCF 3 REQUESTS FROM DOC 1 REQUESTS FROM BOPP 14 REQUESTS FROM PROBATION 12 REQUESTS FROM OTHER POLICE DEPTS 5 REQUESTS FROM OTHER GOVN./MUNIC AGENCY 18 REQUESTS FROM LEXIS NEXIS (PR1/MV THEFT) 1 REQUESTS FROM METRO (PR1/MV THEFT) 42 REQUESTS FROM ATTORNYS, INSURANCE, PUBLIC, ETC.
136 REPORTS REDACTED AND DISSEMINATED IN JUNE 2022 9 REQUESTS FOR BODYCAM, PHOTOS, 911 CALL, ETC FORWARD TO SGT FOR PROCESSING
152 COMPLETED REQUESTS IN JUNE 2022
26 INCOMING PISTOL PERMIT APPLICATIONS TAKEN
12 TEMP PISTOL PERMITS ISSUED 2 DENIED PISTOL PERMIT APP

DATE NAME	100 D
Printed 7/6/2022	OVERTIME WEEK ENDING
	06/04/2022
	aux ets nuctry
Monthly	

DATE	NAME	DIVISION	A 22 12 12 12 12 12 12 12 12 12 12 12 12					(
6/4/22	BAL DIS	PATROI		RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
6/1/22	BAROWN	ADMIN	BOPS MTG	\$47.2290	8.5	\$70.8435	\$602.1698	06/04/2022
6/2/22	CASTILLA	PATROL	22-19688 EVO CASE	\$52.0080	4	\$78.0120	\$312.0480	06/04/2022
6/2/22	DAVIES	PATROL	22-19688 EVO CASE	\$31.9017	4	\$47.8526	\$191.4102	06/04/2022
6/4/22	CURTIN	PATROL	PATROL - MIDS	\$37.87/6	4 0	\$56.7264	\$226.9056	06/04/2022
6/3/22	CURTIN	PATROL	PATROL - EVES	\$35 3641	οα	\$53.0462	\$424.3692	06/04/2022
6/4/22	DALLAS	PATROL	PATROL - DAYS	\$37 0476	ο α	\$53.0462	\$424.3692	06/04/2022
6/1/22	DELAY	PATROL	PATROL - DAYS	\$42 5734	ο α	\$55.7254	\$453.8112	06/04/2022
6/2/22	FIFER	PATROL	PATROL - DAYS	\$37.8176	<b>∞</b> c	\$55 736A	\$310.8808	06/04/2022
6/3/22	FAULKNER	TRAINING	POSTC ACADEMY RIFLE TRNG NEW	\$42.5734	<u>~</u> (	\$62 8604 662 8604	\$63.8604	06/04/2022
6/3/22	FAY	PATROL	PATROL - DAYS	\$35.3641	œ .	\$53,0462	\$424.3692	06/04/2022
6/3/22	GAUDETTE	PATROL	PATROL - DAYS	\$34.3333	00	\$51.5000	\$411.9996	06/04/2022
6/1/22	JOHNSON B	DETECTIVE	TATROL - MIDS	\$37.8176	œ	\$56.7264	\$453.8112	06/04/2022
6/1/22	LETTIERI	PATROL	PATROL 22 19612 222 INVESTIGATION	\$47.2290	_	\$70.8435	\$70.8435	06/04/2022
6/3/22	MAIGA		BATBOL DAYS	\$42.5734	ے	\$63.8601	\$63.8601	06/04/2022
6/3/22	MAIGA		PATROL - EVES	\$42.5734	8.5	\$63.8601	\$542.8109	06/04/2022
6/4/22	MAIGA	PATROL	PATROL - DAYS	\$42.5734	, ω	\$63.8601	\$510.8808	06/04/2022
6/2/22	POWELL	PATROL ;	22-1520 ARREST/WARRANT FVO	\$31 9017	ა დ	\$63.8601	\$542.8109	06/04/2022
6/1/22	ROULEAU	~~	PUBLIC ACT 21-67 RISK WARRANT	\$47.2290		\$70.8435	\$141.6870	06/04/2022
6/2/22	STEVENS	מאדמטי ו	PATROL - MIDS - OIC	\$47.2290	8.5	\$70.8435	\$602.1698	06/04/2022
	TIEMAN		22-1520 FVO ARREST	\$37.8176	2	\$56.7264	\$113.4528	06/04/2022
	TIEMAN	DETECTIVE :	01-00-M-00-1-1	\$39.7388	8.5	\$59.6082	\$506.6697	06/04/2022
	TOLEDO	PATROL	PATROL BATBOL DAVO	\$39.7388	2	\$59.6082	\$119.2164	06/04/2022
2	YABROSKY		BATBOL DAYS	\$37.8176	8	\$56.7264	\$453.8112	06/04/2022
	ZAMBETTI		- ) - ) - CATO	\$37.8176	00	\$56.7264	\$453.8112	06/04/2022
6/3/22 E	BALDIS			\$34.3333	7	\$51.5000	\$360.4997	06/04/2022
			OF COLOUR ON ONE	\$42.5734	ن د	\$63.8601	\$191.5803	06/04/2022

			OVERTIME WEEK ENDING	06/04/2022	22			
DATE	NAME	DIVISION	Printed 7/6/2022  Assignment Printed by Michele	BATE			Monthly	hly
6/3/22	JOHNSON B	PATROL	AR SH	\$47 2200	5 2	O RAIL	TOTAL OT	WEEK ENDING
6/3/22	ABELING	PATROL	LIONS CLUB CAR SHOW	27.0476	) o	\$70.8435	\$425.0610	06/04/2022
6/4/22	CONNOLLY	ADMIN	LOWES TOUCH A TRUCK	07.0170	. σ	\$56.7264	\$340.3584	06/04/2022
6/4/22	FOLEY	ADMIN	LOWES TOUCH A TRUCK	\$27 0476	4 4	\$56.7264	\$226.9056	06/04/2022
6/4/22	JOHNSON B	ADMIN	LOWES TOUCH A TRUCK	3	4	\$56.7264	\$226.9056	06/04/2022
6/4/22	KELLY	FINANCIAL	22-49988 ODIATE COMMENTS OF THE PROPERTY OF TH	\$47.2290	5.5	\$70.8435	\$389.6393	06/04/2022
6/4/22	BELONICK	FINANCIAL	2022 OF INTERCOMMONITY COTREACH	\$42.5734	Oī	\$63.8601	\$319.3005	06/04/2022
6/4/22	BAROWN	FINANCIAL	3033 7 10K H OD HOVE	\$35.3641	œ	\$53.0462	\$424.3692	06/04/2022
6/1/22	MAIGA	FINANCIAL	2022 21 127 17 27 12775	\$52.0080	00	\$78.0120	\$624.0960	06/04/2022
6/4/22	BELONICK	TINANCIAL	COMBRETERIOR PER STATE	\$42.5734	00	\$63.8601	\$510.8808	06/04/2022
6/2/22	KRZANOWSKI	FINANCIAL	CNDERAGE DRINKING OBANT	\$35.3641		\$53.0462	\$424.3692	06/04/2022
6/9/22	ABELING	PATROL	22-20656 FVO ARREST	\$37.8476	~ N	\$70.8435	\$141.6870	06/04/2022
6/10/22	ABELING	PATROL	PATROL - EVES	\$37.8176	œ .	676 7264 676 7264	\$453 0440	06/11/2022
6/11/22	ABELING	PATROL	PATROL - EVES	\$37.8176	<b>∞</b>	\$56.7264	\$453 8440	06/11/2022
6/5/22	BELONICK		PATROL - DAYS	\$35.3641	8.5	\$53.0462	\$450.8923	06/11/2022
6/10/22	BELONICK	11	22-20676 PROCESSING PRISONER	\$35.3641	.50	\$53.0462	\$26.5231	06/11/2022
6/8/22	BELONICK	PAIROL	22-15586 AIT CASE	\$35.3641		\$53.0462	\$397.8461	06/11/2022
6/5/22	CONNOLLA		Z2-20489 FVO INVESTIGATION	\$37.8176	4.5	\$56.7264	\$255.2688	06/11/2022
6/11/22	CURTIN			\$37.8176	οο ***	\$56.7264	\$453.8112	06/11/2022
	DELAY		PATROL - MIDO	\$35.3641	∞ •	\$53.0462	\$424.3692	06/11/2022
6/7/22	DOS SANTOS	PATROL		447.7490		\$/0.8435	\$566.7480	06/11/2022
6/9/22	DOS SANTOS	PATROL		\$3A 3333		\$51.5000	\$411.9996	06/11/2022
6/7/22	FIFER	PATROL 2	VIL DEPO FOR 2018 CASE	\$37.8176		\$10000		06/11/2022
6/11/22	FOLEY	PATROL 2		\$37.8176	ω . 5π (	\$56 726A		06/11/2022
6/5/22	GAUDETTE	PATROL F	PATROL - MIDS	\$34.3333		\$51.5000	\$411 0006	06/11/2022
6/6/22	GONSKA	TRAINING P	PEER SUPPORT TRNG	\$42.5734	2 \$6	\$63.8601		06/11/2022
6/7/22	GONSKA	RAINING	PEER SUPPORT TRNG	\$42.5734	2 \$6	\$63.8601		06/11/2022

9
/ERT
NEV
VEEK
MND
G N

06/11/2022

DATE	NAME		The contract of the contract o	Printed 7/6/2022					
6/8/22	CONSKA	TRAINING	Assignment	Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
6/9/22	GONSKA	TRAINING	PEER SUPPORT TRNG	NG ON RDO	\$42.5734	10	\$63.8601	\$638.6010	06/11/2022
6/10/22	GONSKA	TRAINING	DEED SUPPORT INVO	S G	\$42.5734	N	\$63.8601	\$127.7202	06/11/2022
6/10/22	GUIDA	PATROL	BATBOL TYPORT IRNG	NG	\$42.5734	N	\$63.8601	\$127.7202	06/11/2022
6/11/22	GUIDA	PATROL	PATROL EVES		\$37.8176	œ	\$56.7264	\$453.8112	06/11/2022
6/5/22	HURBARD	PATROI	PATROL HVES		\$37.8176	8.5 5	\$56.7264	\$482.1744	06/11/2022
6/9/22	HUBBARD	PATROL	PAIROL-MIDS		\$34.3333	œ	\$51.5000	\$411.9996	06/11/2022
6/5/22	JOHNSON B	PATROL	22-20544 / 22-20529 DV INVESTIGATION	OV INVESTIGATION	\$34.3333	ω	\$51.5000	\$154.4999	06/11/2022
6/8/22	JOHNSON B	DETECTIVE	DETECTIVE STATEWINE MADOOTION TANK TOTAL	1	\$47.2290	∞	\$70.8435	\$566.7480	06/11/2022
6/10/22	JOHNSON B	DETECTIVE	DETECTIVE PATROL MINE	TOU LAWN FORCE	\$47.2290	N	\$70.8435	\$141.6870	06/11/2022
6/11/22	KELLY	PATROL	PATROL - EVES		\$47.2290	(X)	\$70.8435	\$602.1698	06/11/2022
6/5/22	KISIEL	PATROL	PATROL - DAYS		\$35.3641	o o	\$53,0462	\$542.8109	06/11/2022
6/5/22	KRZANOWSKI	PATROL	PATROL - EVES		\$47.2290	<b>∞</b>	\$70.8435	\$566 7480	06/11/2022
6/6/22	KRZANOWSKI	PATROL	21-27583 AIT CASE		\$47.2290	_	\$70.8435	\$70.8435	06/11/2022
6/11/22	LETTIERI		PATROL - MIDS		\$42.5734	8.5	\$63.8601	\$542.8109	06/11/2022
27/6/9	MAIGA		PATROL - DAYS		\$42.5734	8.5	\$63.8601	\$542.8109	06/11/2022
6/40/22	DOWEL -	DATBOL	22-20676 ARREST		\$34.3333	1.5	\$51.5000	\$77.2499	06/11/2022
6/6/22	ROULEAU	വ	DOE MANDATED BED		\$31.9017	1.5	\$47.8526	\$71.7788	06/11/2022
6/10/22	SULTAIRE	PATROL	PATROL - DAYS	PATROL - DAYS	\$47.229U		\$70.8435	\$212.5305	06/11/2022
6/9/22	TOLEDO	PATROL	PATROL - DAYS		\$37.8176	x	\$56 736A	\$510.8808	06/11/2022
6/11/22	TOLEDO	PATROL	PATROL - DAYS		\$37.8176		\$56.736A	6450000	06/11/2022
6/11/22	WITYAK	PATROL	PATROL - MIDS		\$47.2290		\$70.8435	\$566 7480	06/11/2022
6/6/22	YABROSKY	TRAINING	PEER SUPPORT TRNG		\$37.8176		\$56.7264	\$113.4528	06/11/2022
6/7/22	YABROSKY	TRAINING F	PEER SUPPORT TRNG		\$37.8176		\$56 7264	\$113.4528	06/11/2022
6/8/22	YABROSKY	TRAINING F	PEER SUPPORT TRNG		\$37.8176		\$56.7264	\$113.4528	06/11/2022
6/9/22	YABROSKY	TRAINING F	PEER SUPPORT TRNG		\$37.8176		\$56.7264	\$113.4528	06/11/2022
6/10/22	YABROSKY	TRAINING F	PEER SUPPORT TRNG		\$37.8176	N 49	\$56.7264	\$113.4528	06/11/2022

06/18/2022	\$78.0120	\$78.0120	_	0800.76¢				
06/18/2022	\$542.8109	\$63.8601	α.υ	\$10.0004	ADMIN DUTIES	ADMIN	GONZALEZ	6/13/22
06/18/2022	\$191.5803	\$63.8601		\$42.5/34 \$43.5734	PATROL - EVES	PATROL	GONSKA	6/18/22
06/18/2022	\$255.4404	\$63.8601		\$42.57.34	PATROL RIFLE INSTRUCTOR MANCHESTED	TRAINING	GIORDANO	6/17/22
06/18/2022	\$255.4404	\$63.8601		\$42.5734	PATROL RIFLE INSTRUCTOR MANCHESTER	TRAINING	GIORDANO	6/16/22
06/18/2022	\$255.4404	\$63.8601	4.	\$42.5/34	PATROL RIFLE INSTRUCTOR MANCHESTER	TRAINING	GIORDANO	6/15/22
06/18/2022	\$191.5803	\$63.8601	. w	\$42.5/34	PATROL RIFLE INSTRUCTOR MANCHESTER	TRAINING	GIORDANO	6/14/22
06/18/2022	\$51.5000	\$51.5000		\$34.3333	PATROL RIFLE INSTRUCTOR MANIQUESTED	TRAINING	GIORDANO	6/13/22
06/18/2022	\$453.8112	\$56.7264	00	\$37.8176	22-21245 EVO ARREST	PATROL	GAUDETTE	6/14/22
06/18/2022	\$453.8112	\$56.7264	co	\$37.8176	PATROL - EVES	PATROL	FOX	6/12/22
06/18/2022	\$453.8112	\$56.7264	00	\$37.8176	PATROL - DAYS	PATROL	FIFER	6/18/22
06/18/2022	\$453.8112	\$56.7264	00	\$37.8176	PATROL - DAVS	PATROL	FIFER	6/17/22
06/18/2022	\$424.3692	\$53.0462	œ	\$35.3641	PATROL - DAVS	PATROL	FIFER	6/12/22
06/18/2022	\$510.8808	\$63.8601	00	\$42.5/34		TRAINING	FAY	6/14/22
06/18/2022	\$71.7788	\$47.8526	 .51	\$31.9017		TRAINING	FAULKNER	6/15/22
06/18/2022	\$453.8112	\$56.7264	00	\$37.8176	22-21582 FVO ARREST	PATROL	CASTILLA	6/16/22
06/18/2022	\$85.0896	\$56.7264	7.5	\$51.6.16	PATROL - EVES	PATROL	DAVIES	6/17/22
06/18/2022	\$510.8808	\$63.8601	. 00	\$44.5/34 \$27.0476	22-21582 FVO ARREST	PATROL	DAVIES	6/16/22
06/18/2022	\$31.9301	\$63.8601	.50	\$42.5734	PATROL - MIDS	) PATROL	D'AUTORIO	6/17/22
06/18/2022	\$510.8808	\$63.8601	00	\$42.5/34	22-21007 FVO ARREST	D PATROL	D'AUTORIO	6/14/22
06/18/2022	\$411.9996	\$51.5000	000	\$40.5000	PATROL - MIDS	O PATROL	D'AUTORIO	6/12/22
06/18/2022	\$437.7496	\$51.5000	, w	\$34.3333	PRISONER WATCH	PATROL	BUZZI	6/16/22
06/18/2022	\$424.3692	\$53.0462	<b>∞</b>	\$35.3641	G	TRAINING	BUZZI	6/13/22
06/18/2022	\$624.0960	\$78.0120	œ	\$52,0080			2 BELONICK	6/12/22
06/18/2022	\$447.0207	\$63.8601	7	\$42.5734		PATROL	BAROWN	6/17/22
06/11/2022	\$447.0207	\$63.8601	7	\$42.5734		SUPPORT	2 BALDIS	6/13/22
06/11/2022	\$510.8808	\$63.8601	00	\$42.5734		O FINANCIAL	2 D'AUTORIO	6/11/22
06/11/2022	\$411.9996	\$51.5000	00	\$34.3333	IAL COMPREHENSIVE DIE COANT			6/10/22
WEEK ENDING	TOTAL OT	S OT RATE	OT HRS	RATE	PATROI DAVS	PA	ZAMBETTI	6/6/22
Monthly	Mor				Frinted 7/6/2022  Printed by Michale	DIVISION	TE NAME	DATE
			)22	06/11/2022	OVERTIME WEEK ENDING			

0
_
R
_
3
m
$\leq$
Ш
m
不
m
7
$\stackrel{\smile}{=}$
4
(P)

06/18/2022

06/18/2022	\$476.8656	\$59.6082	œ	<b>\$39.7388</b>				
06/18/2022	\$510.8808	\$63.8607		\$ 10.10.1	INTERVIEWS & INTERPOCATION TON	TRAINING	SEGUI	6/17/22
06/18/2022	\$106.2653	# C.0430		\$42 £734	PATROL - EVES	PATROL	SOUTHARD	6/12/22
90/10/2022	200000000000000000000000000000000000000	\$20 8435	וני ד	\$47.2290	ADMIN DUTIES	SUPPORT	ROULEAU	6/15/22
06/18/2022	\$70 8435	\$70.8435	_	\$47.2290	ADMIN DUTIES	SUPPORT	ROULEAU	6/13/22
06/18/2022	\$411.9996	\$51.5000	8	\$34.3333	PATROL - MIDS	TAIROL	PRISTINA	27/81/9
06/18/2022	\$47.8526	\$47.8526	_	\$31.9017	ZZ-Z1661 LATE CALL			
06/18/2022	\$143.5577	\$47.8526	ယ	\$31.9017	WOLLFLE CASES REPORT WRITING	PATROL	DOWELL	6/17/22
06/18/2022	\$542.8109	\$63.8601	8.5	\$42.5734	MIII TIDI E OASSO JETJOJE III.	PATROL	POWELL	6/13/22
06/18/2022	\$63.8601	\$63.8601	->	\$42.5734	DATEOL EVES	PATROL	MAIGA	6/18/22
06/18/2022	\$510.8808	\$63.8601	00	\$42.5/34	22-24500 EVO ABBEST	PATROL	MAIGA	6/16/22
06/18/2022	\$510.8808	\$63.8601	000	\$42.5/34	PATROL - DAYS	PATROL	MAIGA	6/13/22
06/18/2022	\$141.6870	\$70.8435	N	\$47.2290	FIRST LINE SUPERVISOR TRUC ON BOO	TRAINING	LETTIERI	6/13/22
06/18/2022	\$141.6870	\$70.8435	2	\$47.2290	22-16057 ABBLICANT BACKOBOLING	PATROL	KRZANOWSKI	6/18/22
06/18/2022	\$35.4218	\$/0.8435		*41.6000	22-21100 LISE OF FORCE BEVIEW	PATROL	KRZANOWSKI	6/16/22
06/18/2022	\$35.4218	\$70.0435	71 C	\$47 2290	22-21540 FVO ARREST	PATROL	KRZANOWSKI	6/16/22
00/10/2022	\$	\$70.8735	50		22-21392 FVO ARREST	PATROL	KRZANOWSKI	6/15/22
06/18/2022	\$70 8/35	\$70.8435	_		21-42656 REVIEW AIT RPT/ARREST WARRANT	PATROL	KRZANOWSKI	6/14/22
06/18/2022	\$106.2653	\$70.8435	1.5	T \$47.2290	21-27583 REVIEW AIT RPT/ARREST WARRANT	PAIROL	KRZANOWSKI	6/12/22
06/18/2022	\$283.3740	\$70.8435	4	\$47.2290	22-16057 APPLICANT BACKGROUND	PAIROL	KRZANOWSKI	6/12/22
06/18/2022	\$255.4404	\$63.8601	4	\$42.5734	22-21435 TMS END OF YEAR MTG W/ SRO	TAIROL	KELLY	27/51/0
06/18/2022	\$566.7480	\$70.8435	∞	\$47.2290	PATROL - MIDS	PATROL	JOHNSON B	614.6133
06/18/2022	\$141.6870	\$70.8435	2	\$47.2290	DATECTIVE 22-21286 SNTF SEARCH WARRANT	מל הייני		6/47/22
06/18/2022	\$566.7480	\$70.8435	00	\$47.2290	FAIROL - MIDS	DETECTIV	JOHNSON B	6/14/22
06/18/2022	\$231.7498	\$51.5000	4.5	\$34.3333	22-21540 WARRANT SUBMISSION	PATROL	TOHNSON B	6/12/22
06/18/2022	\$77.2499	\$51.5000	1.5	\$34.3333	20 DIESE VO TREARM SEIZURE	PATROI	HIBBADD	6/16/22
06/18/2022	\$77.2499	\$51.5000	1.5	\$34.3333	33 34393 500 5514 514	PATROL	HUBBARD	6/15/22
06/18/2022	\$476.8656	\$59.6082	α	\$39.7388	22-20529 DV WARRANT	PATROL	HUBBARD	6/13/22
06/18/2022	\$506.6697	\$59.6082	0.0	#30 7300 #30 7300	PATROL - EVES	PATROL	GUIDA	6/18/22
06/18/2022	\$234.0360	\$78.0.20 021.0°874	o c	\$30 7299	PATROL - DAYS	PATROL	GUIDA	6/18/22
WEEK ENDING	TOTAL OF		.s   9	\$52 0080	ADMIN DUTIES	ADMIN	GONZALEZ	6/17/22
ithly	Monthly		OT HBS	RATE	ON Assignment Printed 7/6/2022	DIVISION	NAME	DATE

			OVERTIME WEEK ENDING	00140101	)			
DATE	NAME			00/10/2022	77		Monthly	thly
6/15/22	OTEDD	DATEC		RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
77/51/10	SIEPP	PAIROL	22-1392 FVO ARREST	\$34.3333	ယ	\$51.5000	\$154 4999	08/18/2022
6/16/22	STEPP	PATROL	PATROL - DAYS	\$34.3333	xx (	A 6000	\$154.4999	06/18/2022
6/6/22	STEVENS	TRAINING	METHOD OF INSTRUCTION TRNG ON RDO	¢27 9476	<b>o</b> c	\$5.5000	\$411.9996	06/18/2022
6/7/22	STEVENS	TRAINING	METHOD OF INSTRUCTION TRNG ON BDO	01.01/0	000	\$56.7264	\$453.8112	06/18/2022
6/17/22	STEVENS	PATROL	22-21661 LATE CALL	\$21.01/6	CC	\$56.7264	\$453.8112	06/18/2022
6/17/22	SULTAIRE	PATROL	33 34664 = 37 GV = 1 0 20 1	\$37.8176	_	\$56.7264	\$56.7264	06/18/2022
6/16/22	WITYAK	PATROI	22-2 1661 JUVENILE CASE	\$42.5734	.75	\$63.8601	\$47.8951	06/18/2022
6/12/22	BAIDIO	DATROI	TAIROC - DAYO	\$47.2290	8	\$70.8435	\$566.7480	06/18/2022
6/12/22			PAIROL - EVES - OIC	\$47.2290	8 5	\$70.8435	\$602,1698	06/18/2022
6/40/22	O HAIGA		PATROL - DAYS - OIC	\$47.2290	00	\$70.8435	\$566.7480	06/18/2022
	GOOTHAND		PATROL - MIDS - OIC	\$47.2290	8.5	\$70.8435	\$602.1698	06/18/2022
6/46/33	KELLY		UNDERAGE DRINKING GRANT BILLING	\$47.2290	1.5	\$70.8435	\$106.2653	06/18/2022
6/45/55			COMMUNITY OUTREACH OPIATE GRANT	\$42.5734	2	\$63.8601	\$127.7202	06/18/2022
6/14/22	BARANOWSKI	DETECTIVE SAIL	) (2)	\$37.8176	O1	\$56.7264	\$283.6320	06/25/2022
6/25/22	BAROWN	PATROI		\$37.8176	4	\$56.7264	\$226.9056	06/25/2022
6/23/22	BAROWN		>DMIN 7:11:10	\$52.0080	œ	\$78.0120	\$624,0960	06/25/2022
6/24/22	BAROWN		DATED EVEN	\$52.0080	Óì	\$78.0120	\$390.0600	06/25/2022
6/24/22	CASTILLA		22-22640 FVO ADDITON	\$52.0080	80	\$78.0120	\$624.0960	06/25/2022
6/18/22	COOPER	ഹ	22-24052 FENED CAMPO DATE:	\$31.9017	4.5	\$47.8526	\$215.3365	06/25/2022
6/21/22	COOPER		RINAWAY AT TWO SO SOCIO	\$37.8176	4	\$56.7264	\$226.9056	06/25/2022
6/23/22	COOPER		TORRINGEORD SAFETY AT O W. O	\$37.8176	1.5	\$56.7264	\$85.0896	06/25/2022
6/18/22	CURTIN	_	BATROL DAVE	\$37.8176	O1	\$56.7264	\$283.6320	06/25/2022
6/20/22	CURTIN		BATROL DAVO	\$35.3641	<b>∞</b>	\$53.0462	\$424.3692	06/25/2022
6/21/22	CURTIN		22-22174 EVO ARREST	\$35.3641		\$53.0462	\$424.3692	06/25/2022
6/23/22	DABLAIN	ΝE	22-22382 ROBBERY SEABOL WADDANG	\$35.3641		\$53.0462	\$53.0462	06/25/2022
6/25/22	D'AUTORIO		ATROL MIDO	\$39,7388	8.5	\$59.6082	\$506.6697	06/25/2022
	D'AUTORIO		EVO ADDECT 33 23245	\$42.5734	∞ ⇔	\$63.8601	\$510.8808	06/25/2022
	DAVIES		0 ADDC: 67-628 6	\$42.5734	.50 \$	\$63.8601	\$31.9301	06/25/2022
			המיאטרי-העהט המיאטרי-העהט	\$37.8176	8	\$56.7264	\$453.8112	06/25/2022

DATE	NAME		Printed 7/6/2022				Monthly	thly
6/24/22	DAVIES	PATROI		RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
6/20/22	FIFER	PATROL	22 2402 DDOTTOTECT OF TAXABLE ST	\$37.8176	2	\$56.7264	\$113.4528	06/25/2022
6/25/22	GALLAGHER	PATROL	PATROL DAVS	\$37.8176	.50	\$56.7264	\$28.3632	06/25/2022
6/24/22	GAUDETTE		PATROL - DAYS	\$34.3333	œ	\$51.5000	\$411.9996	06/25/2022
6/23/22	GELORMINO	DETECTIV	DETECTIVE 22 22202 BODDEDA		8		\$0.0000	06/25/2022
6/23/22		フェイニクエIV	1 22-22302 ROBBERY	\$39.7388	_	\$59.6082	\$59.6082	06/25/2022
CCIACIA	GELCKWING	יייייייייייייייייייייייייייייייייייייי	DETECTIVE 22-22382 ROBBERY SEARCH WARRANT	\$39.7388	10	\$59.6082	\$596.0820	06/25/2022
6/22/22	GIURDANO	DETECTIVE	E 22-22382 ARREST/SEARCH WARRANT	\$42.5734	ω	\$63.8601	\$191.5803	06/25/2022
7716710	GUNSKA	IRAINING	FBI TRNG NEW LONDON COAST GUARD	\$42.5734	4	\$63.8601	# 3 A A A A A A A A A A A A A A A A A A	
6/22/22	GONSKA	TRAINING	FBI TRNG NEW LONDON COAST GUARD	\$42.5734	. 4	#	\$255.4404	06/25/2022
6/24/22	GONSKA	TRAINING	FBI TRNG NEW LONDON COAST GUARD	\$42 5734	. ه	600000000000000000000000000000000000000	\$255.4404	06/25/2022
6/19/22	GONZALEZ	PATROL	PATROL - DAYS	\$50 0080	0 4	# do	\$255.4404	06/25/2022
6/23/22	GONZALEZ	ADMIN	SCHOOL SAFETY MTG	\$52,0080	י ול	#70 0430	\$024.0960	06/25/2022
6/19/22	GUIDA	PATROL	PATROL - DAYS	\$39.7388	Ο Ι	\$59 6089	\$500 CC07	06/25/2022
6/22/22	GUIDA	DETECTIVE	DETECTIVE 22-22382 ROBBERY	\$39.7388		\$50 SOS	£4400000	00/25/2022
6/23/22	GUIDA	DETECTIVE	22-22382 ROBBERY ARREST	\$39.7388		\$59 6082	\$500 0000 \$100.0000	06/25/2022
6/18/22	HUBBARD	PATROL	PATROL - DAYS	\$34.3333		## COOO	\$437 7420	06/25/2022
6/19/22	JOHNSON B	PATROL	PATROL - MIDS	\$47 2200		\$70.000 \$70.000	\$437.7496	06/25/2022
6/22/22	JOHNSON K	DETECTIVE	DETECTIVE 22-22382 BANK ROBBERY	# A C F T C A	1	\$70.8435	\$566.7480	06/25/2022
6/23/22	NOSNHOL	DETECTIVE	22-22382 BANK ROBBERY SFARCH	¢42.5734	Ċ	\$63.8601	\$159.6503	06/25/2022
6/17/22	KISIEL	TRAINING	CIT TRNG ON RDO	#2F 2F 44		\$63.8601	\$447.0207	06/25/2022
6/19/22	KRZANOWSKI	PATROL	PATROL - EVES - ATTEND ROLLCALI	\$47 2200		\$30.0462	\$424.3692	06/25/2022
6/21/22	KRZANOWSKI	PATROL	22-18898 CASE REVIEW	1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	c	\$70.8435	\$602.1698	06/25/2022
6/23/22	KRZANOWSKI	ADMIN	22-16057 APPLICANT BACKGROUND	\$47.2290		\$70.8435	\$70.8435	06/25/2022
6/24/22	KRZANOWSKI	PATROL	PATROL - DAYS	¢47 3300	Ç	\$70.0433	\$106.2653	06/25/2022
6/24/22	KRZANOWSKI	PATROL		647 2200		\$70.8435	\$566.7480	06/25/2022
6/22/22	LOUCKS	TRAINING	NE IN SERVICE	41.740		\$70.8435	\$566.7480	06/25/2022
6/25/22	MAIGA	PATROL		\$40.01/0		\$56.7264	\$453.8112	06/25/2022
6/24/22	MRAZIK	PATROL	NIY INSTABLE	1000		\$63.8607	\$542.8109	06/25/2022
				9710.10		\$56.7264	\$28.3632	06/25/2022

OVERTIME WEEK ENDING

06/25/2022

OVERTIME WEEK ENDING
06/25/2022

				7707/67/90	77		RAI OR	
DATE	NAME	DIVISION	N Assignment Printed 7/8/2022 Printed by Michele	RATE			in Oil tilly	lily
6/25/22	MRAZIK	PATROL	LARY	27 27	OLHRS	OT RATE	TOTAL OT	WEEK ENDING
6/19/22	POWELL	PATROL	22-21920 MVA   ATE CALL	\$71.0.1/b	1.50	\$56.7264	\$85.0896	06/25/2022
6/21/22	POWELL	PATROL	22/22039 DUI REPORT	\$31.9017	œ	\$47.8526	\$382.8204	06/25/2022
6/22/22	ROULEAU	SUPPORT	ADMIN DUTIES	\$31.9017	4	\$47.8526	\$191.4102	06/25/2022
6/23/22	ROULEAU	SUPPORT	ADMIN DUTIES	\$47.2290	2	\$70.8435	\$141.6870	06/25/2022
6/24/22	ROULEAU	PATROL	PATROL - EVES	\$47.2290		\$70.8435	\$70.8435	06/25/2022
6/24/22	ROULEAU	PATROL	PATROL - EVES	\$47.2290	o &.5	\$70.8435	\$602.1698	06/25/2022
6/23/22	SEGUI	DETECTIV	DETECTIVE 22-21663 CAIT INTERVIEW / 22-22382 BANK	\$47.2290	00	\$70.8435	\$566.7480	06/25/2022
6/19/22	SOUTHARD	PATROL	PATROL - MIDS	\$39./388	9.5	\$59.6082	\$566.2779	06/25/2022
6/25/22	SOUTHARD	PATROL	PATROL - MIDS	\$42.5/34	0 00	\$63.8601	\$510.8808	06/25/2022
6/19/22	STEPP	PATROL	PATROL - MIDS	# 14.07.04 # 14.07.04	0 0	\$63.8601	\$542.8109	06/25/2022
6/19/22	STEVENS	PATROL	22-21920 TRAFFIC DOWNED POLE	\$37.8476	0 0	\$51.5000	\$411.9996	06/25/2022
6/21/22	STEVENS	PATROL	22-22039 DUI ARREST / FTO DUTIES	\$37.8176		\$56 7364	\$453.8772	06/25/2022
6/21/22	SULTAIRE	PATROL	PATROL - DAYS	\$42.5734		\$63.8604	\$510.9056	06/25/2022
0123122	SULIAIRE	TAIROL	22-22459 OFFICER INJURY	\$42.5734	_	\$63,8601	\$63.8604	06/25/2022
27/67/0	SULIAIRE	TAIROL	PATROL - DAYS	\$42.5734	3.5	\$63.8601	\$223.5104	06/25/2022
6/25/22	TOLEDO	מאדמסי	DATEON TO SERVICE 22-22382 ARMED ROBBERY	\$39.7388	7	\$59.6082	\$417.2574	06/25/2022
6/25/22	TOLEDO	PATROL	22-22816 FVO ARREST	\$37.8176	.50	\$56.7264	\$28.3632	06/25/2022
6/25/22	WITYAK	PATROL	DATEO NIDO	\$37.8176	00	\$56.7264	\$453.8112	06/25/2022
6/17/22	YABROSKY	TRAINING	CIT TRNG BOST WATERFEIGH	\$47.2290	ω •	\$70.8435	\$566.7480	06/25/2022
6/23/22	YABROSKY	PATROL	PATROL - DAYS	\$37.8176		\$56.7264	\$170.1792	06/25/2022
6/30/22	BALDIS	PATROL	PATROL - EVES	\$47.8776		\$56.7264	\$283.6320	06/25/2022
6/30/22	BROUILLARD	PATROL	22-23253 FVO WARRANT	\$42.5/34		\$63.8601	\$542.8109	07/02/2022
6/27/22	CURTIN	PATROL	PATROL - DAYS	\$47.2290	0	\$70.8435	\$35.4218	07/02/2022
6/28/22	CURTIN	PATROL		\$35.3641	89 89	\$53.0462	\$424.3692	07/02/2022
6/28/22	CURTIN		PATROL - DAVO		.50 \$	\$53.0462	\$26.5231	07/02/2022
6/26/22	FIFER					\$53.0462	\$424.3692	07/02/2022
				\$37.8176	8	\$56.7264	\$453.8112	07/02/2022

			OVERTIME W	OVERTIME WEEK ENDING	07/02/2022	22			
DATE	NAME	DIVISION	Assignment	Printed 7/6/2022 Printed by Michele	RATE	OT LBs		Monthly	thly
6/27/22	GAUDETTE	PATROL	PATROL - DAYS		¢2/ 2222	0 170	C KAIL	TOTAL OT	WEEK ENDING
6/28/22	GAUDETTE	PATROL	PATROL - DAYS		\$24 2232 24 2232	<b>o</b>	\$51.5000	\$411.9996	07/02/2022
6/28/22	GIORDANO	TRAINING	FIREARMS INSTRUCTOR RIFLE TRNG	R RIFI F TRNG	# 44 1. C	1 0	\$57.5000	\$411.9996	07/02/2022
6/28/22	GIORDANO	DETECTIVE		& SEIZHRE WARRANT		) ~	\$63.8607	\$447.0207	07/02/2022
6/26/22	GUIDA	PATROL	PATROL - MIDS	S OFFICE AND VALUE		3.5	\$63.8601	\$223.5104	07/02/2022
6/30/22	GUIDA	PATROL	PATROL - DAVS		\$39.7388	8.5	\$59,6082	\$506.6697	07/02/2022
6/27/22	JOHNSON B	PATROL	PATROL EVES		\$39.7388	7.5	\$59.6082	\$447.0615	07/02/2022
6/28/22	KELLY	PATROL	DATEOL DAYS		\$47.2290	00	\$70.8435	\$566.7480	07/02/2022
6/30/22	KELLY	PATROL	DATEOL DAVE		\$42.5734	00	\$63.8601	\$510.8808	07/02/2022
6/26/22	KRZANOWSKI	PATROL	PATROL - EVES		\$42.5/34	00	\$63.8601	\$510.8808	07/02/2022
6/26/22	KRZANOWSKI	PATROL	PATROL - DAYS		\$47.2290	<b>o</b> 00	\$70.8435	\$566.7480	07/02/2022
6/28/22	KRZANOWSKI	PATROL	22-16057 BACKGROUND INVESTIGATOIN	INVESTIGATOIN	\$47.2290	<b>v</b>	\$70.0435	\$344 6030	07/02/2022
6/29/22	KRZANOWSKI	PATROL	22-21543 PURSUIT REVIEW	EW	\$47.2290		\$70.8435	\$141.6970	2202/20170
6/28/22	MAIGA		PATROL - DAYS		\$42.5734		\$63.8601	\$510 8808	07/02/2022
6/29/22	MRAZIK	PATROL	COMPLETE MULTIPLE REPORT DUE TO		\$37.8176	2.5	\$56.7264	\$141.8160	07/02/2022
0124122	POWELL		22-14730 & 22-15971 REPORT WRITING		\$31.9017	Ν.	\$47.8526	\$95.7051	07/02/2022
2210210	ROULEAU		PATROL - EVES		\$47.2290	8	\$70.8435	\$566.7480	07/02/2022
	ROUI FAU	SUPPORT	ACCOUNTABILITY BILL GENERAL ORDERS		\$47.2290	7	\$70.8435	\$70.8435	07/02/2022
	SEGUI	m	23-23282 BISK MABBANT		\$47.2290		\$70.8435	\$106.2653	07/02/2022
6/26/22	SIMPSON		22-22037 MVA WITH IN III DIES	BITO	\$39.7388	 	\$59.6082	\$208.6287	07/02/2022
6/26/22	SOUTHARD	PATROL	PATROL - MIDS		\$40.0176		\$56.7264	\$56.7264	07/02/2022
6/30/22	STEPP	PATROL F	PATROL - DAYS	8 4	\$24.3734 \$24.3333		\$63.8601	\$510.8808	07/02/2022
6/28/22	TIEMAN	PATROL F	PATROL - MIDS	<del></del>	\$39 7388	no co Tri	\$51.5000 \$50.5000	\$411.9996	07/02/2022
6/26/22	TOLEDO	PATROL F	PATROL - DAYS	€9 .	\$37.8176		\$56 7264		07/02/2022
6/28/22	YABROSKY	ADMIN N	MEET & GREET JUNE CORCROSS SCOUT		\$37.8176		\$56.7264	\$283 6320	2202/20/70
	YABROSKY		VCBC BIBLE CAMP WITH CHIEF		\$37.8176	<del>⇔</del>	\$56.7264		07/02/2022
0120122	D'AUTORIO	TA I ROL P	PATROL - MIDS	€9	\$47.2290	8.5 5	\$70.8435		07/02/2022

			OVERTIM	OVERTIME WEEK ENDING	07/02/2022	22			
DATE	NAME	DIVISION	<b>^</b>	Printed 7/6/2022				Monthly	thly
		DIAIGION	Assignment	Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
6/28/22	KRZANOWSKI	FINANCIAL	FINANCIAL UNDERAGE DRINKING GRANT	ING GRANT	\$47 2200	٠			FINDING
6/30/22	ROULEAU	FINANCIAL		The state of the s			\$10.0400	\$70.8435	07/02/2022
			COMPANIENCIAN DOLLENT GRANT	GRANT GRANT	\$47.2290	00	\$70.8435	\$566.7480	07/02/2022
						TOTAL HRS 1390.25		<b>TOTAL</b> \$84,599.8381	